十一 Corporate Finance: Corporate Investing and Financing Decisions
1. A: An Overview of Financial Management 

a: Discuss potential agency problems of stockholders versus 1) managers and 2) creditors.
	
	Question ID: 25907
Which of the following parties is least likely to benefit from risky strategies that increase risk and expected return for a company?


	
	A.
	Creditors


	
	B.
	Chief executive officers


	
	C.
	Stockholders


	
	D.
	Chief financial officers

	
	
	







Explanation: Correct answer: A

Creditors bear the responsibility for bankruptcy in that they will not receive the principal back from their investment. If the project is a great success, creditors’ returns will not increase; they will only receive the money loaned plus interest. On the other hand, stockholders could see the value of their shares rise many times over, while the reputation of the managers (and their bonuses) is likely to rapidly increase. 
	
	Question ID: 17232

Which of the following statements is NOT a mechanism to reduce the agency problem and motivate managers?


	
	A.
	Poison pill.


	
	B.
	Threat of takeover.


	
	C.
	Managerial compensation.


	
	D.
	Threat of firing. 

	
	
	







Explanation: Correct answer: A 


	
	Question ID: 25905
Which of the following statements about agency problems is TRUE?


	
	A.
	As long as managers stay within the law, there are no effective controls that stockholders can implement to control managerial actions.


	
	B.
	Agency conflicts are common.


	
	C.
	Bond covenants are used to motivate managers to act in the interests of shareholders.


	
	D.
	The agency conflict between bondholders and stockholders cannot exist if managers are attempting to maximize share price.

	
	
	







Explanation: Correct answer: B

Anytime there is a publicly held corporation and in any business that issued debt, there is the potential for agency problems. An agency relationship is created when decision-making authority is delegated to an agent without the agent being fully responsible for the decision that is made. Agency relationships occur in two common corporate scenarios: 1) stockholders give responsibility to managers who do not receive the full costs and benefits of their performance, and 2) debtholders delegate authority to managers who act on the behalf of stockholders. There are several legal means to reduce agency problems. Bond covenants motivate mangers to act in the interests of bondholders. In the process of attempting to maximize share price, companies may take risks that put them at a risk of default, thereby putting bondholders at risk.
b: Describe four mechanisms used to motivate managers to act in stockholders' best interests.
	
	Question ID: 25909
If managers are granted the opportunity to buy additional firm shares at a predetermined price on or before a future date, they are said to be owners of:


	
	A.
	direct intervention.


	
	B.
	performance shares.


	
	C.
	takeover threats.


	
	D.
	executive stock options.

	
	
	







Explanation: Correct answer: D

Executive stock options typically have exercise prices set above the current stock price to give managers an incentive to take actions that will increase share price. Performance shares are typically shares of common stock given in reward for effort, without a specified stock price being part of the consideration. Takeover and intervention threats are means to motivate a mismanaging manager.
	
	Question ID: 17267

With respect to the shareholder/manager relationship, which of the following statements is FALSE?


	
	A.
	Executive stock options tend to be issued "out-of-the-money."


	
	B.
	Performance shares can be used to align manager/shareholder interests.


	
	C.
	Executive stock options do not have expiration dates and are held in perpetuity.


	
	D.
	The managerial salary package should include an incentive component. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 25908
Which of the following is NOT a method of aligning managers’ interests with the interests of shareholders?


	
	A.
	The threat of firing. 


	
	B.
	Annual performance bonuses.


	
	C.
	Restrictive loan covenants.


	
	D.
	Direct intervention by shareholders.

	
	
	







Explanation: Correct answer: C

Restrictive loan covenants are techniques used by creditors to limit the risks taken by a business. While annual performance bonus can be a positive affirmation of managerial effort, shareholders can intervene and even fire a manager that has under performed expectations. 
SECTOR QUIZ: 1.A: An Overview of Financial Management
	
	Question ID: 26262
American Sprocket, Inc., a manufacturer of quality bicycles, is reviewing several new projects. Assuming that managerial time constraints limit the number of new projects to only one, which of the following would shareholders most likely prefer?

Project A: Update the company’s web site, including making it interactive. There will be increased costs, which are largely one-time expenses, plus subsequent maintenance costs. Revenues are expected to exceed expenses.

Expected impacts: 
Change in earnings: +3%
Change in earnings variance: +1%
Change in share price: +5%

Project B: Update the color scheme of the firm’s most popular product. In addition to design expenses and new raw materials (paint & decals), American Sprocket expects to run an advertising campaign hyping the ¡°new¡± bikes. The new version will be sold for $15 more per unit.

Expected impacts:
Change in earnings: +10%
Change in earnings variance: +15%
Change in share price: +11%

Project C: Replace the heavier alloys used with lighter compounds; increasing the cost of the typical bicycle by $90. Although the new alloy is experimental and has unproven results in durability, American Sprocket would have the edge over its competition by having the lightest bikes in the industry. 

Expected impacts:
Change in earnings: +45%
Change in earnings variance: +35%
Change in share price +19% 


	
	A.
	Shareholders would select Project A.


	
	B.
	Shareholders would select Project C.


	
	C.
	Shareholders would select Project B.


	
	D.
	Shareholders would be indifferent.

	
	
	







Explanation: Correct answer: B

Shareholder wealth is a function of share price. As their agents, managers should select options which maximizes share price, or Project C in this case. Since all of the projects increase share price, shareholders would favor all of the projects, however, the question states that resources force management to select one project. 
	
	Question ID: 17231

Which of the following statements is FALSE? In the shareholder/debtor relationship, the:


	
	A.
	interests of the management of the firm tend to be aligned more closely with those of the shareholders of the firm.


	
	B.
	shareholders have an incentive to take on risky projects because they get to keep the residual earnings of the firm.


	
	C.
	shareholder and debtor interests are increasingly aligned as the company takes on more debt.


	
	D.
	debtor is the principal because they have delegated authority to management. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 26645
American Sprocket, Inc., a manufacturer of quality bicycles, is reviewing several new independent projects. Which of the following would American Sprocket’s creditors most likely prefer?

Project A: Update the company’s web site, including making the site interactive. There will be increased costs, which are largely one-time expenses, plus subsequent maintenance costs. Revenues are expected to exceed expenses. 

Expected impacts: 
Change in earnings: +3%
Change in earnings variance: +1%
Change in share price: +5%

Project B: Update the color scheme of the firm’s most popular product. In addition to design expenses and new raw materials (paint & decals), American Sprocket expects to run an advertising campaign hyping the "new" bikes. The new version will be sold for $15 more per unit.

Expected impacts:
Change in earnings: +10%
Change in earnings variance: +15%
Change in share price: +11%

Project C: Replace the heavier alloys used with lighter compounds; increasing the cost of the typical bicycle by $90. Although the new alloy is experimental and has unproven results in durability, American Sprocket would have the edge over its competition by having the lightest bikes in the industry. 

Expected impacts:
Change in earnings: +45%
Change in earnings variance: +35%
Change in share price +19%


	
	A.
	Creditors would prefer Project A.


	
	B.
	Creditors would prefer Project C.


	
	C.
	Creditors would be indifferent.


	
	D.
	Creditors would prefer Project B.

	
	
	







Explanation: Correct answer: A

The best creditors can expect is a return of the amount they lend and appropriate interest. Consequently, they would prefer that managers take projects that increase revenues and earnings before interest and taxes (operating profit) without increasing risk. In this instance, creditors would prefer the lower risk option that creates the minimum earnings variance. Although Project C has substantial upside potential, creditors would not see any profits beyond their promised interest and principal payments. 
	
	Question ID: 25911
The CEO of American Foods has made a variety of significant investments that have changed the firm’s focus and diminished share value. One of American Foods’ shareholders has aggressively been acquiring shares and now owns 10 percent of the company. The shareholder has nominated Erik Sorenson to the board of directors in an attempt to oversee manager actions. Although Sorenson has the ability to ask for the manager’s resignation, he prefers that the manager make choices that enhance firm value. This type of motivation is known as:


	
	A.
	executive stock options.


	
	B.
	direct intervention.


	
	C.
	the threat of firing.


	
	D.
	performance shares.

	
	
	







Explanation: Correct answer: C

The fact that Sorenson has the ability to terminate the manager’s position puts Sorenson in the position of having the ability to fire the manager. Direct intervention, by itself, does not include the ability to terminate a manager’s employment. Performance shares and executive stock options are to methods to reward manager performance that is in line with the goal of maximizing shareholder wealth.
	
	Question ID: 17266

In agency theory, when shareholders choose to elect their own board members and replace management, this is called:


	
	A.
	threat of firing.


	
	B.
	shareholder replacement.


	
	C.
	poison pill.


	
	D.
	threat of takeover. 

	
	
	







Explanation: Correct answer: A


1. B: The Cost of Capital
a: Explain why the cost of capital used in capital budgeting should be a weighted average of the costs of various types of capital the company uses.
	
	Question ID: 24940
American Outlook Inc. is issuing bonds to obtain the funding necessary to acquire a major competitor. Review of the balance sheets indicates that American Outlook has also issued preferred and common stock in the past. Which component cost(s) should American Outlook use in evaluating the financial cost of acquiring the new firm?


	
	A.
	The weighted average component cost of common stock, preferred stock, and debt.


	
	B.
	The price the firm paid for its assets divided by their market value.


	
	C.
	Shareholders' equity.


	
	D.
	The cost of the new debt issue alone.

	
	
	







Explanation: Correct answer: A

How a company raises capital and how they budget or invest it are considered independently. The financing department is responsible for keeping costs low and using a balance of funding sources. In the short term, a company may overemphasize the most recently issued capital, but in the long run, the firm will ascribe to target weights for each capital type. The investment decision should be made assuming a weighted average cost of capital including each of the different sources of capital and long-run target weights. 
	
	Question ID: 24930
National Auto uses debt, preferred stock, and common stock to finance operations. Calculation of the cost of capital requires identification of the:


	
	A.
	risk-free rate.


	
	B.
	net present value of the project to be financed. 


	
	C.
	percentage of financing coming from each financing source.


	
	D.
	company's product.

	
	
	







Explanation: Correct answer: C

The weighted average cost of capital is a weighted average of the marginal costs of each relevant component. The weights are based on the percentage each particular component represents in the firm’s capital structure. Those sources providing more financing of firm assets have a greater weight in calculation of the firm’s cost of capital. The risk-free rate only has an impact in that it serves as a consideration of lenders in assigning an interest rate to the firm. The net present value is used in capital budgeting decisions.
	
	Question ID: 17268

Which of the following influence the cost of capital?


	
	A.
	All of these choices are correct.


	
	B.
	General economic conditions.


	
	C.
	Marketability of securities.


	
	D.
	Amount of financing the firm requires. 

	
	
	







Explanation: Correct answer: A


b: Define and calculate the component cost of: 1) debt 2) preferred stock 3) retained earnings (3 different methods) and 4) newly issued stock or external equity.
	
	Question ID: 17280
An analyst has gathered the following information about a company:
· stocks sells for $50 per share 

· last dividend (D0) was $2.00 

· growth rate is a constant 5 percent 

· the company would incur a flotation cost of 15 percent if it sold new common stock 

· net income for the coming year is expected to be $500,000 

· the firm's payout ratio is 60 percent 
· its common equity ratio is 30 percent 

If the firm has a capital budget of $1,000,000, what component cost of common equity will be built into the weighted average cost of capital for the last dollar of capital the company raises?


	
	A.
	9.94%


	
	B.
	11.75%


	
	C.
	10.50%


	
	D.
	9.20%

	
	
	







Explanation: Correct answer: A

ke = [D1/(Po(1-F))] + g
D1(2)(1.05) = 2.1
	ke = [2.1/(50 (1- .15))] + .05 =
	2.1
	+ .05 =
	2.1
	+ .05 = .0494 + .05 = .0994or 9.94%

	
	50(.85)
	
	42.5
	


	
	Question ID: 17269

A company has $5 million in debt outstanding with a coupon rate of 12 percent. Currently the YTM on these bonds is 14 percent. If the tax rate is 40 percent, what is the after tax cost of debt?


	
	A.
	14.0%.


	
	B.
	12.0%.


	
	C.
	5.6%.


	
	D.
	8.4%. 

	
	
	







Explanation: Correct answer: D
(.14)(1-.4)

	
	Question ID: 17277

If the FED caused the risk-free rate to increase, we would expect the cost of capital to:


	
	A.
	remain unchanged.


	
	B.
	increase.


	
	C.
	need more information to answer question.


	
	D.
	decrease. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17272

The expected dividend is $2.50 for a share of stock priced at $25. What is the cost of equity if the long-term growth in dividends is projected to be 8 percent?


	
	A.
	15%.


	
	B.
	18%.


	
	C.
	19%.


	
	D.
	16%. 

	
	
	







Explanation: Correct answer: B
Ks = (D1 / P0) + g.

c: Define the target (optimal) capital structure.
	
	Question ID: 24942
The weights used to calculate the firm’s current capital structure for comparison to the target capital structure should be based on the:


	
	A.
	book value of the firm's securities if share prices are significantly lower than book values.


	
	B.
	book value of the firm's securities if share prices significantly exceed book values.


	
	C.
	market value of the firm's securities.


	
	D.
	initial public offering price for stock, and par value for bonds.

	
	
	







Explanation: Correct answer: C

Market values are an indication of what creditors and shareholders are currently investing into the firm and are likely reflective of what the firm would receive if new financing we undertaken today. Using book value figures is appropriate only when book values approximate market values.
	
	Question ID: 17281

An analyst gathered the following data about a company: 

Capital Structure
Required Rate of Return
30 percent debt
10 percent for debt
20 percent preferred stock
11 percent for preferred stock
50 percent common stock
18 percent for common stock

Assuming a 40 percent tax rate, what after-tax rate of return must the company earn on its investments?


	
	A.
	13.0%.


	
	B.
	10.0%.


	
	C.
	18.0%.


	
	D.
	14.2%. 

	
	
	







Explanation: Correct answer: A
(.3)(.1)(1-.4) + (.2)(.11) + (.5)(.18)

	
	Question ID: 24941
Using an optimal capital structure will:


	
	A.
	maximize earnings per share.


	
	B.
	minimize the stock price.


	
	C.
	maximize the stock price.


	
	D.
	maximize revenues.

	
	
	







Explanation: Correct answer: C 

Using the right combination of the financing components will maximize the company’s stock price. Above normal usage of debt would be a cheaper method of financing, but it would increase the risk of the firm. The optimal capital structure seeks a balance between risk and return that maximizes the value of the company. Revenues are based on the demand for products and services produced by the firm’s assets, regardless of how they were financed. Earnings per share are a result of all of the firm’s activities and may or may not be materially influenced by the firm’s capital structure.
d: Define and calculate a company's weighted-average cost of capital.
Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· Floatation costs for new equity is 10%. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17287

The weighted average cost of capital (WACC) (using the cost of equity from CAPM) is:


	
	A.
	13.5%.


	
	B.
	14.0%.


	
	C.
	13.0%.


	
	D.
	12.5%. 

	
	
	







Explanation: Correct answer: D

Ks = .10 + (.15 - .10)(1.2) = .16 or 16%
Kd = Solve for i: N= 40, PMT=50, FV=1000, PV= -849.54, CPT I = 6 x 2 = 12%
 WACC = (.4)(12)(1-.4) + (.6)(16)= 2.88 + 9.6 = 12.48
Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· Floatation costs for new equity is 10%. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17287

The WACC of new capital will be:


	
	A.
	13.0%.


	
	B.
	14.0%.


	
	C.
	13.5%.


	
	D.
	12.5%. 

	
	
	







Explanation: Correct answer: A 

Ks = 2.16/(27)(1-.1) + 0.08 
= 0.089 + 0.08 = 0.169 or 16.9%

Kd = Solve for i:N= 40, PMT=50, FV=1000, PV= -849.54, CPT I = 6 x 2 = 12%
WACC = (.4)(12)(1-.4) + (.6)(16.9)

= 2.88 + 10.14 = 13.02
	
	Question ID: 17286

A company is planning a $50 million expansion. The expansion is to be financed by selling $20 million in new debt and $30 million in new common stock. The before-tax required return on debt is 9 percent and 14 percent for equity. If the company is in the 40 percent tax bracket, what is the marginal weighted average cost of capital?


	
	A.
	9.0%.


	
	B.
	10.6%.


	
	C.
	11.5%.


	
	D.
	10.0% 

	
	
	







Explanation: Correct answer: B 
(.4)(9)(1-.4) + (.6)(14)

	
	Question ID: 17282
Adjust for tax when calculating weighted average cost of capital (WACC) because:


	
	A.
	the interest cost of debt is tax deductible.


	
	B.
	equity earns higher return than debt.


	
	C.
	preferred stock is involved.


	
	D.
	equity is risky. 

	
	
	







Explanation: Correct answer: A 


e: Define and calculate a company's marginal cost of capital.
	
	Question ID: 24947
Which one of the following statements about the marginal cost of capital is FALSE?


	
	A.
	The marginal cost of capital is the cost of the last dollar obtained from shareholders.


	
	B.
	The marginal cost of capital falls as more and more capital is raised in a given period.


	
	C.
	Preferred shareholders are disregarded in the calculation of the marginal cost of capital due to their preferred position.


	
	D.
	The marginal cost of capital is the cost of the last dollar obtained from bondholders.

	
	
	







Explanation: Correct answer: B

The marginal cost of capital (MCC) is defined as the last dollar raised by the company. Typically, the marginal cost of capital will increase as more capital is raised by the firm. The marginal cost of capital is the weighted average rate across all sources of long-term financings-bonds, preferred stock, and common stock-when the final dollar was obtained, regardless of its source.
	
	Question ID: 24944
The marginal cost of capital is:


	
	A.
	equal to the firm's weighted cost of funds.


	
	B.
	tied solely to the specific source of financing.


	
	C.
	equal to the current yield on money market funds.


	
	D.
	the cost of the last dollar raised by the firm.

	
	
	







Explanation: Correct answer: D

The ¡°marginal¡± cost refers to the last dollar of financing acquired by the firm. It is a percentage value based on both the returns required by the last bondholders and stockholders to provide capital to the firm. Regardless of whether the funding came from bondholders or stockholders, both debt and equity are needed to fund projects. Money market fund yields are tied to low-risk, short-term investments and are not relevant.
	
	Question ID: 24951
Gulf Offshore Drilling Incorporated is financing projects according to the following target capital structure.? The cost of debt, preferred stock, and common stock are also given.? Due to the current weakness in the oil industry, Gulf Offshore has a negative operating income. 
Capital Component
Percentage of Capital Structure
Component Cost
Debt
25%
10%
Preferred stock
10%
12%
Common stock
65%
16%
What is the firm’s weighted average cost of capital?


	
	A.
	12.67 %.


	
	B.
	10.40 %. 


	
	C.
	16.00 %. 


	
	D.
	14.10 %.

	
	
	







Explanation: Correct answer: D

Since Gulf Offshore Drilling is not making money, it is unable to write off the interest expense as a tax deduction, so the before-tax cost of debt and after-tax cost of debt are equal. The weighted average cost of capital is calculated below: WACC = 0.25 (.10) + 0.1 (.12) + 0.65 (.16) = 0.025 + 0.012 + 0.104 = 0.141 or 14.1 percent 
f: Distinguish between the weighted-average cost of capital and marginal cost of capital.
	
	Question ID: 24952
Which one of the following is likely to be highest?


	
	A.
	Marginal cost of capital.


	
	B.
	Cost of debt.


	
	C.
	Treasury bill rates.


	
	D.
	Weighted average cost of capital.

	
	
	







Explanation: Correct answer: A

Financial managers seek the cheapest source of financing first. This is typically low interest rate debt or retained earnings. As these cheaper sources are used up, the firm is forced to acquire capital from more and more costly sources. For instance, there will be flotation costs associated with new stock issues. Since component capital rates are rising, marginal rates exceed average rates (i.e., the weighted average cost of capital). 
	
	Question ID: 24952
Which one of the following is likely to be highest?


	
	A.
	Marginal cost of capital.


	
	B.
	Cost of debt.


	
	C.
	Treasury bill rates.


	
	D.
	Weighted average cost of capital.

	
	
	







Explanation: Correct answer: A

Financial managers seek the cheapest source of financing first. This is typically low interest rate debt or retained earnings. As these cheaper sources are used up, the firm is forced to acquire capital from more and more costly sources. For instance, there will be flotation costs associated with new stock issues. Since component capital rates are rising, marginal rates exceed average rates (i.e., the weighted average cost of capital). 
	
	Question ID: 24952
Which one of the following is likely to be highest?


	
	A.
	Marginal cost of capital.


	
	B.
	Cost of debt.


	
	C.
	Treasury bill rates.


	
	D.
	Weighted average cost of capital.

	
	
	







Explanation: Correct answer: A

Financial managers seek the cheapest source of financing first. This is typically low interest rate debt or retained earnings. As these cheaper sources are used up, the firm is forced to acquire capital from more and more costly sources. For instance, there will be flotation costs associated with new stock issues. Since component capital rates are rising, marginal rates exceed average rates (i.e., the weighted average cost of capital). 
g: Explain the factors that affect the cost of capital and distinguish between those factors that can and cannot be controlled by the company.
	
	Question ID: 24958
Which one of the following factors that affect the cost of capital can be controlled by a company?


	
	A.
	The size of the capital budget.


	
	B.
	Government actions.


	
	C.
	The level of interest rates.


	
	D.
	Corporate tax rates.

	
	
	







Explanation: Correct answer: A

As a firm expands the number of projects it accepts, it has to acquire additional funds. Having used the cheapest sources of financing first, its marginal cost of capital will rise as the firm acquires more costly debt or equity financing. By cutting back on the number of projects it accepts, although perhaps missing out on great opportunities, the firm will be controlling its capital costs. Interest rates, tax rates, and government actions are out of the control of the firm; although firms decide how to react to changes in these variables.
	
	Question ID: 24962
Newmont Filters wants to reduce its cost of capital. Which one of the following events would have the opposite effect?


	
	A.
	Newmont Filters pays a bonus dividend to attract more shareholders.


	
	B.
	Newmont Filters selects less risky projects than it has in the past.


	
	C.
	The Federal Reserve cuts interest rates, resulting in a lower prime lending rate.


	
	D.
	Newmont Filters finances its expansion in line with its target capital structure.

	
	
	







Explanation: Correct answer: A

At first glance, issuing a bonus dividend might seem to be a good idea, because it might attract a group of shareholders (called a clientele) seeking a higher dividend yield. However, Newmont Filters would consequently have to pay floatation costs as it issued additional shares of common stock to finance new projects, rather than use less costly retained earnings. Also, issuing the higher dividend increases the percentage of the firm financed with debt, which increases the risk faced by the shareholders. Note that expanding the firm in line with the existing target capital structure will likely keep the cost of capital the same.
	
	Question ID: 24960
A company can control all of the following factors affecting the cost of capital EXCEPT:


	
	A.
	interest rates.


	
	B.
	target capital structures.


	
	C.
	dividend payments.


	
	D.
	investment selection.

	
	
	







Explanation: Correct answer: A

Interest rates are a function of multiple factors outside the control of the company, including Federal Reserve decisions and individual savings rates. Up to the point where investors feel endangered by a risk of bankruptcy, borrowing more funds reduces the cost of capital due to less expensive, tax deductible interest. Retaining a higher percentage of profits reduces the need to obtain funds in financial markets and pay related floatation costs. By reducing the number of projects selected, a firm also reduces the need to obtain additional funds.
SECTOR QUIZ: 1.B: The Cost of Capital
Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17276

The after-tax cost of debt is:


	
	A.
	9.1%.


	
	B.
	8.0%.


	
	C.
	7.2%.


	
	D.
	10.0%. 

	
	
	







Explanation: Correct answer: C
n=40, PMT=50, FV=1000, PV=849.54, Compute i=6%, double=12%, now (12)(1-.4)=7.2%.

Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17276

The cost of equity using the CAMP approach is:


	
	A.
	16.9%.


	
	B.
	13.6%.


	
	C.
	16.6%.


	
	D.
	16.0%. 

	
	
	







Explanation: Correct answer: D
10 + (5)(1.2)=16%.

Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17276

The cost of equity using the discounted cash flow approach is:


	
	A.
	16.0%.


	
	B.
	13.6%.


	
	C.
	16.9%.


	
	D.
	16.6%. 

	
	
	







Explanation: Correct answer: A
D1 = 2(1.08) = 2.16, now (2.16/27) + .08 = 16%

Setup Text: 
· The company has a target capital structure of 40 percent debt and 60 percent equity. 

· Bonds pay 10 percent coupon (semi-annual payout), mature in 20 years, and sell for $849.54. 

· The company stock beta is 1.2. 

· Risk free rate is 10 percent, and market risk premium is 5 percent. 

· The company is a constant growth firm that just paid a dividend of $2.00, sells for $27.00 per share, and has a growth rate of 8 percent. 

· The company's marginal tax rate is 40 percent. 

	
	Question ID: 17276

If flotation cost for new equity is 10 percent, the cost of new equity capital will be:


	
	A.
	16.0%.


	
	B.
	16.6%


	
	C.
	13.6%.


	
	D.
	16.9%. 

	
	
	







Explanation: Correct answer: D
(2.16/27(1-.1)) + .08 =16.9%.

	
	Question ID: 17284

A firm has $100 in equity and $300 in debt. The firm recently issued bonds at 9 percent. The firm's beta is 1.125, the risk free rate is 6 percent and the expected return in the market is 14 percent. If the firm's tax rate is 40 percent what is the firm's weighted average cost of capital (WACC)?


	
	A.
	5.4%.


	
	B.
	8.6%.


	
	C.
	9.0%.


	
	D.
	7.8%. 

	
	
	







Explanation: Correct answer: D
	CAPM
	= RE = RF + B(RM -? RF ) = .06 + (1.125)(.14 - .06) = .15

	WACC
	= (E/V)( RE ) + (D/V)( RD)(1-t)

	V
	= 100 + 300 = 400

	WACC
	= (1/4)(.15) + (3/4)(.09)(1 - .4) = .078


	
	Question ID: 17273

The expected dividend is $2.50 for a share of stock priced at $25. What is the cost of new equity if flotation costs are 10 percent and the long-term growth in dividends is projected to be 8 percent?


	
	A.
	18%.


	
	B.
	15%.


	
	C.
	16%.


	
	D.
	19%. 

	
	
	







Explanation: Correct answer: D
Ke = [ D1 / (P0 (1 - F))] + g.

	
	Question ID: 17283

In calculating the weighted average cost of capital (WACC) which of the following statements is FALSE?


	
	A.
	The cost of retained earnings equity is the rate of return stockholders require on the firm's common stock.


	
	B.
	The cost of new equity capital is the firm's growth rate plus the expected dividend divided by the after flotation proceeds from the sale of the new shares.


	
	C.
	The cost of preferred equity capital is the preferred dividend divided by the net issuing price of preferred shares.


	
	D.
	The cost of debt is equal to one minus the marginal tax rate multiplied by the coupon rate on outstanding debt. 

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17294
Hatch Corporation's target capital structure is 40 percent debt, 50 percent common stock, and 10 percent preferred stock. Information regarding the company's cost of capital can be summarized as follows:
· The company's bonds have a nominal yield to maturity of 7 percent. 
· The company's preferred stock sells for $42 a share and pays an annual dividend of $4 a share. 
· The company's common stock sells for $28 a share and is expected to pay a dividend of $2 a share at the end of the year (i.e., D1=$2.00). The dividend is expected to grow at a constant rate of 7 percent a year. 
· The company pays a flotation cost of $2 a share to issue new preferred stock. 
· The company pays a flotation cost of $3 a share to issue new common stock. 
· The company has no retained earnings. 
· The company's tax rate is 40 percent. 

What is the company's weighted average cost of capital (WACC)?


	
	A.
	11.30%.


	
	B.
	10.18%.


	
	C.
	10.59%.


	
	D.
	10.03%.

	
	
	







Explanation: Correct answer: B

WACC = (Wd)(rd)(1-t) + (WPS)(rps) + (Wce)(re)
where: Wd = .40  Wce = .50   Wps = .10  rd = .07

	rps=
	Dps
	=
	4
	=
	4
	= .1

	
	Pnet
	
	42 -2
	
	10
	


	re=
	D1
	+ g =
	2
	+ .07=
	2
	+ .07= .08 + .0=.15

	
	(P0 -F)
	
	28 - 3
	
	25
	


WACC = (.4)(.07)(1 - .4)+ (.1)(.1) + (.5)(.15)
= 0.0168 + .01 + .075
= 0.1018or10.18%
	
	Question ID: 17289

Assume a firm uses a constant WACC to select investment projects rather than adjustiing the projects for risk. If so, the firm will tend to:


	
	A.
	accept profitable, low-risk projects and accept unprofitable, high-risk projects.


	
	B.
	accept profitable, low-risk projects and reject unprofitable, high-risk projects.


	
	C.
	reject profitable, low-risk projects and accept unprofitable, high-risk projects.


	
	D.
	reject profitable, low-risk projects and reject unprofitable, high-risk projects. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17290

Given the following information about capital structure, compute the WACC. The marginal tax rate is 40 percent. 

Type of Capital
Percent of Capital Structure
Before-Tax Component Cost
Bonds
40 percent
7.5 percent
Preferred Stock
5 percent
11.0 percent
Common Stock
55 percent
15.0 percent



	
	A.
	13.3%.


	
	B.
	7.1%.


	
	C.
	10.0%.


	
	D.
	10.6%. 

	
	
	







Explanation: Correct answer: D
WACC = (Wd)(Kd (1 - t)) + (Wps)(Kps) + (Wce)(Ks).

1. C: The Basics of Capital Budgeting
a: Define capital budgeting.
	
	Question ID: 24922
The process of evaluating and selecting profitable long-term investments consistent with the firm’s goal of shareholder wealth maximization is known as:


	
	A.
	financial restructuring.


	
	B.
	monitoring.


	
	C.
	ratio analysis.


	
	D.
	capital budgeting.

	
	
	







Explanation: Correct answer: D

In the process of a capital budgeting, a manager is making decisions about a firm’s earning assets, which provide the basis for the firm’s profit and value. Capital budgeting refers to investments expected to produce benefits for a period of time greater than one year. Ratio analysis investigates financial statement values, financial restructuring is done as a result of bankruptcy, and monitoring is a critical assessment aspect of capital budgeting.
	
	Question ID: 24925
Capital budgeting is critical for all of the following reasons EXCEPT that:


	
	A.
	it requires forecasts of revenues over the asset's life.


	
	B.
	the firm loses some flexibility in its ability to invest in other assets.


	
	C.
	a firm's assets define a firm's strategic plan.


	
	D.
	it focuses on the purchase of assets that will be sold within one year.

	
	
	







Explanation: Correct answer: D

Capital budgeting is the process of determining and selecting the most profitable long term (> 1 year) investment projects. These investments dictate the firm’s mission and strategic plan as the firm’s capital is typically locked in for the duration of the asset’s life. Given the importance of investment selection, accurate cash flow projections (including revenues and expenditures) are necessary.
	
	Question ID: 17295

The post-audit is used to:


	
	A.
	improve cash flow forecasts and eliminate potentially profitable but risky projects.


	
	B.
	stimulate management to improve operations and bring results into line with forecasts and eliminate potentially profitable but risky projects.


	
	C.
	improve cash flow forecasts, stimulate management to improve operations and bring results into line with forecasts, and eliminate potentially profitable but risky projects.


	
	D.
	improve cash flow forecasts and stimulate management to improve operations and bring results into line with forecasts. 

	
	
	







Explanation: Correct answer: D


b: Describe and calculate four methods used to evaluate capital projects: payback period, discounted payback period, net present value (NPV), and internal rate of return (IRR).
Setup Text: 
A company is considering the purchase of a copier that costs $5,000. Assume a cost of capital of 10 percent and the following cash flow schedule:
· Year 1: $3,000 

· Year 2: $2,000 

· Year 3: $2,000 

	
	Question ID: 17306

What is the project's payback period?


	
	A.
	1.5 years.


	
	B.
	2.5 years.


	
	C.
	2.0 years.


	
	D.
	3.0 years. 

	
	
	







Explanation: Correct answer: C


Setup Text: 
A company is considering the purchase of a copier that costs $5,000.Assume a cost of capital of 10 percent and the following cash flow schedule:
· Year 1: $3,000 

· Year 2: $2,000 

· Year 3: $2,000 

	
	Question ID: 17306

What is the project's discounted payback period?


	
	A.
	2.4 years.


	
	B.
	2.0 years.


	
	C.
	1.4 years.


	
	D.
	2.6 years. 

	
	
	







Explanation: Correct answer: A
PV 3000 = 2727, PV 2000 = 1653, PV 2000 = 1523, [5000-(2727 + 1653) = 620] 620/1523 = .407, so 2 + .4

Setup Text: 
A company is considering the purchase of a copier that costs $5,000.Assume a cost of capital of 10 percent and the following cash flow schedule:
· Year 1: $3,000 

· Year 2: $2,000 

· Year 3: $2,000 

	
	Question ID: 17306

What is the project's NPV?


	
	A.
	-$309.


	
	B.
	+$1,523.


	
	C.
	+$883.


	
	D.
	+$243. 

	
	
	







Explanation: Correct answer: C
5883-5000 = 883.

Setup Text: 
A company is considering the purchase of a copier that costs $5,000 Assume a cost of capital of 10 percent and the following cash flow schedule:
· Year 1: $3,000 

· Year 2: $2,000 

· Year 3: $2,000 

	
	Question ID: 17306

What is the project's IRR (approximately)?


	
	A.
	5%.


	
	B.
	20%.


	
	C.
	10%.


	
	D.
	15%. 

	
	
	







Explanation: Correct answer: B
Can't use the calculator, but you know the NPV is +, so the IRR must be greater than 10%. You only have two choices, 15% and 20%. Pick one and solve the NPV, if it is not close to zero, then you guessed wrong, pick the other one.

	
	Question ID: 17298
A firm is considering a $5,000 project that will generate an annual cash flow of $1,000 for the next 8 years. The firm has the following financial data:

· Debt/equity ratio is 50 percent. 

· Cost of equity capital is 15 percent. 

· Cost of new debt is 9 percent. 

· Tax rate is 33 percent. 

The project's net present value (NPV) is:


	
	A.
	+$4,968, so accept the project.


	
	B.
	+$32, so don't accept the project.


	
	C.
	-$32, so don't accept the project.


	
	D.
	+$32, so accept the project. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17297
A firm is considering a $200,000 project that will last 3 years and has the following financial data:

· Annual after-tax cash flows are expected to be $90,000. 

· Target debt/equity ratio is .4. 

· Cost of equity is 14 percent. 

· Cost of debt is 7 percent. 

· Tax rate is 34 percent. 

The project's net present value (NPV) is closest to:


	
	A.
	$0.


	
	B.
	+$18,716.


	
	C.
	-$21,872.


	
	D.
	+$21,872. 

	
	
	







Explanation: Correct answer: B
D + E = 1
E = 1 - D
D / E = .4
D = .4 (1 - D)
D = .4 - .4D
1.4D = .4
D = .286
E = .714
WACC = .286 (7) (1 - .34) + .714 (14)
WACC = 1.32 + 10.OO = 11.32
N = 3, PMT = 90,000, FV = 0, I/Y = 11.32
CPT PV = 218,716.

c: Explain the NPV profile.
	
	Question ID: 17311

What are the reasons that cause the NPV profiles of two projects to intersect?


	
	A.
	The projects have different sizes and different costs of capital.


	
	B.
	The projects have different IRRs and different costs of capital.


	
	C.
	The projects have different IRRs and different lives.


	
	D.
	The projects have different sizes and different lives. 

	
	
	







Explanation: Correct answer: D


	
	Question ID: 24927
When using net present value (NPV) profiles:


	
	A.
	the NPV profile's intersection with the vertical y-axis identifies the project's internal rate of return.


	
	B.
	one should accept all independent projects with positive NPVs.


	
	C.
	the NPV profile's intersection with the horizontal x-axis identifies the amount of profit the project will make.


	
	D.
	one should accept all mutually exclusive projects with positive NPVs.

	
	
	







Explanation: Correct answer: B

Where the NPV intersects the vertical y-axis you have the value of the cash inflows less the cash outflows, assuming an absence of money having a time value (i.e., the discount rate is zero). Where the NPV intersects the horizontal x-axis you have the project’s internal rate of return. At this cost of financing, the cash inflows and cash outflows offset each other. The NPV profile is a tool that graphically plots the project’s NPV as calculated using different discount rates. Assuming an appropriate discount rate, one should accept all projects with positive net present values, if the projects are independent. If projects are mutually exclusive select the one with the higher NPV at any given level of the cost of capital.
	
	Question ID: 24926
The NPV profile is a graphical representation of the change in net present value relative to a change in the:


	
	A.
	prime rate.


	
	B.
	internal rate of return.


	
	C.
	payback period.


	
	D.
	discount rate.

	
	
	







Explanation: Correct answer: D

As discount rates change the net present values change. The NPV profile is a graphic illustration of how sensitive net present values are to different discount rates. By comparison, every project has a single internal rate of return and payback period because the values are determined solely by the investment’s expected cash flows.
d: Explain the relative advantages and disadvantages of the NPV and IRR methods, particularly with respect to independent versus mutally exclusive projects.
	
	Question ID: 24931
Apple Industries, a firm with unlimited funds, is evaluating five projects.  Projects A and B are independent and Projects C, D, and E are mutually exclusive.  The projects are listed with their rate of return and NPV.  Assume that the applicable discount rate is 10 percent.
 
Project
Status
Rate of Return
Net Present Value
A
Independent
14%
$10,500
B
Independent
12%
$13,400
C
Mutually Exclusive
11%
$16,000
D
Mutually Exclusive
15%
$14,000
E
Mutually Exclusive
12%
$11,500
 
Rank the projects the firm should select.


	
	A.
	Project A and Project D.


	
	B.
	All of the projects.


	
	C.
	Project A, Project B, and Project D.


	
	D.
	Project A, Project B, and Project C.

	
	
	







Explanation: Correct answer: D

When it comes to independent projects, financial managers should select all with positive NPVs, resulting in inclusion of Project A and Project B. Remember that projects with positive NPV’s will increase the value of the firm. Among mutually exclusive projects, financial managers would select the one with the highest NPV, in this case Project C. Although all projects have positive NPVs, only one of the latter three can be chosen. If the selection were based upon the internal rate of return, Project D would be chosen instead of Project C. This shows why NPV is the superior decision criteria because Project C is the investment that will cause the greatest increase to the value of the firm.
	
	Question ID: 17313

Which of the following statements is FALSE?


	
	A.
	The NPV method assumes that cash flows will be reinvested at the cost of capital, while the IRR method assumes that they are reinvested at the IRR.


	
	B.
	The internal rate of return is the discount rate that equates the present value of the cash inflows with the outflows.


	
	C.
	The discount rate that gives a NPV of zero is the project's IRR.


	
	D.
	For mutually exclusive projects if the NPV method and the IRR method give conflicting signals, you should use the IRR to select the project. 

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17314

For independent projects, which of the following statements is FALSE?


	
	A.
	If the NPV is positive, you should accept the project.


	
	B.
	If the MIRR > the IRR, accept the project.


	
	C.
	If the MIRR > the cost of capital, accept the project.


	
	D.
	If the IRR < the cost of capital, reject the project. 

	
	
	







Explanation: Correct answer: B


e: Describe and calculate the modified IRR (MIRR).
	
	Question ID: 24933
Ash Industries is considering a project with the following cash flows: 
Year 0:  -$400 million
Year 1:  -$200 million
Year 2:  $300 million
Year 3:  $550 million
The project has a cost of capital of 11 percent.  What is the project’s modified internal rate of return?


	
	A.
	16.25 %.


	
	B.
	12.31 %.


	
	C.
	15.03 %.


	
	D.
	13.89 %.

	
	
	








Explanation: Correct answer: C

Step 1: Calculate the present value of the cash outflows: $400 + (200/1.11) = $400 + 180.18 = $580.18. Step 2: Calculate the future value of the cash inflows, moved to the end date using the firm’s cost of capital: $300 (1.11) + 550 = $883.00. Step 3: Calculate the MIRR PV = -$580.18 FV = $883.00 N = 3 Solve for I/Y = 15.03%. Note: The internal rate of return is 16.25%. 
	
	Question ID: 24932
Which one of the following statements about the modified internal rate of return (MIRR) is FALSE? Whether one uses the MIRR or:


	
	A.
	NPV technique, they will always select the same mutually exclusive projects as long as they have the same lives.


	
	B.
	IRR, they will select the same projects.


	
	C.
	NPV technique, they will always select the same mutually exclusive projects. as long as they have the same size.


	
	D.
	NPV technique, they will always select the same independent projects.

	
	
	







Explanation: Correct answer: C

The MIRR is designed to address the problems found in the IRR, including the assumption that the reinvestment rate equals the IRR. The MIRR is defined as the rate at which the PV of the costs (outflows) is equal to the inflows moved to the end date using the firm’s cost of capital. The MIRR will give the same decision as the IRR, and as the same decision as NPV for mutually exclusive projects of equal sizes and different lives. However, if two mutually exclusive projects differ in size, there will be conflicting results, with the NPV method providing a superior decision.
	
	Question ID: 17320
A company has a project that costs $10,000.? Assume a cost of capital of 10 percent and the following cash flow stream:
· Year 1: $5,000 

· Year 2: $4,000 

· Year 3: $3,000 

What is the project's MIRR?


	
	A.
	10.4%.


	
	B.
	10.0%.


	
	C.
	11.3%.


	
	D.
	9.5%. 

	
	
	







Explanation: Correct answer: A
FV 5000 is 6050, FV 4000 is 4400, FV 3000 is 3000, sum is 13,450 = FV, PV = 10,000, N = 3, I = MIRR = 10.38%.

f: Explain the "multiple IRR problem" and the cash flow pattern that causes the problem.
	
	Question ID: 17322

Which of the following statements is FALSE?


	
	A.
	The MIRR method eliminates the multiple IRR problem.


	
	B.
	If two mutually exclusive projects have different initial cost outlays, the MIRR and NPV method give equivalent decisions.


	
	C.
	If two equally sized mutually exclusive projects have different lives, the NPV method and the MIRR method will give equivalent decisions.


	
	D.
	The MIRR assumes that all cash flows are reinvested at the cost of capital and not the IRR. 

	
	
	







Explanation: Correct answer: B
NPV is better than MIRR because if the size of the projects differ, the MIRR and the NPV method give conflicting decisions.

	
	Question ID: 24939
What is the internal rate of return for a project with the following cash flow pattern?
 Year 0  -$ 2,000
 Year 1   $ 10,000
 Year 2   -$ 10,000



	
	A.
	It has a single IRR of approximately 38 percent.


	
	B.
	No internal rates of return can be calculated.


	
	C.
	It has two IRRs of approximately 38 and 260 percent.


	
	D.
	It has a single IRR of approximately 260 percent.

	
	
	







Explanation: Correct answer: C

The number of IRRs equals the number of changes in the sign of the cash flow. In this case, from negative to positive and then back to negative. Although 38 percent seems appropriate, one should not automatically discount the value of 260 percent.
	
	Question ID: 24937
If a project has cash outflows during its life or at the end of its life:


	
	A.
	there will be a negative modified internal rate of return.


	
	B.
	there will be multiple net present values.


	
	C.
	there will be more than one internal rate of return.


	
	D.
	one will not be able to calculate the net present value.

	
	
	







Explanation: Correct answer: C

Projects with non-normal cash-flow patterns (where the sign of the net cash flow goes from minus to plus to back to minus) will have multiple internal rates of return. However, one will still be able to calculate a single net present value and modified internal rate of return for the cash flow pattern.
g: Explain why NPV, IRR, and MIRR methods can produce conflicting rankings for capital projects.
	
	Question ID: 24945
Which of the following statements regarding internal rate of return (IRR), net present value (NPV), and modified internal rate of return (MIRR) is CORRECT?


	
	A.
	If the NPV of a project is zero, the discount rate will be equal to the IRR.


	
	B.
	Conflicts between NPV and IRR methods arise when the cost of capital exceeds the crossover point.


	
	C.
	The likelihood of differences between MIRR and NPV methods increases as the differences in lives between two projects rises.


	
	D.
	If capital projects differ in size, the net present value model tends to favor smaller projects.

	
	
	







Explanation: Correct answer: A

The key difference between IRR and NPV relates to the objective of the models; a percentage rate for IRR and a direct dollar amount for NPV. Conflicts between IRR and NPV only exist if the cost of capital is less than the crossover point. NPV and MIRR methods give conflicting results only if the projects under consideration vary in size. If project sizes differ, the NPV method tends to favor larger projects (i.e., earning a slightly lower rate on a much larger project enhances NPV).
	
	Question ID: 24943
The underlying cause of conflicts in ranking projects by the internal rate of return and net present value methods of capital budgeting is:


	
	A.
	that neither method explicitly considers the time value of money.


	
	B.
	the assumption made by the IRR method that intermediate cash flows are reinvested at the cost of capital.


	
	C.
	the assumption made by the NPV method that intermediate cash flows are reinvested at the internal rate of return.


	
	D.
	the reinvestment rate assumption regarding intermediate cash flows.

	
	
	







Explanation: Correct answer: D

Both the internal rate of return and net present value methods consider time value of money. However, in the IRR method, intermediate cash flows are reinvested at the internal rate of return, while the NPV method assumes intermediate cash flows are reinvested at the cost of capital. It is important to remember that the NPV measure is considered superior because it is a direct measure of the dollar benefit to the shareholder.
	
	Question ID: 17323

Which of the following statements is FALSE?


	
	A.
	The NPV method is not affected by the multiple IRR problem.


	
	B.
	The NPV will be positive if the IRR is less than the cost of capital.


	
	C.
	The IRR can be positive even if the NPV is negative.


	
	D.
	When the IRR is equal to the cost of capital, the NPV will be zero. 

	
	
	







Explanation: Correct answer: B


h: Describe the role of the post-audit in the capital budgeting process.
	
	Question ID: 24953
The final step in the capital budgeting process is:


	
	A.
	implementation.


	
	B.
	the post-audit.


	
	C.
	decision-making.


	
	D.
	proposal generation.

	
	
	







Explanation: Correct answer: B

It is during the post-audit that the financial manager evaluates the accuracy of their estimates of cash flows. The post-audit serves as an assessment mechanism, allowing managers to enhance their subsequent capital budgeting decision-making.
	
	Question ID: 24959
Conducting a post-audit is:


	
	A.
	unnecessary.


	
	B.
	very important.


	
	C.
	easy.


	
	D.
	a means to predict future share price performance.

	
	
	







Explanation: Correct answer: B

The post-audit is one of the most important elements of a good capital budgeting program. Given the importance of the information, time and effort should go into acquiring accurate information and explanations for both above normal and sub-par performance. However, post-audits relate to individual projects and not to shareholder enthusiasm and share price reaction to project-related events.
	
	Question ID: 24959
Conducting a post-audit is:


	
	A.
	unnecessary.


	
	B.
	very important.


	
	C.
	easy.


	
	D.
	a means to predict future share price performance.

	
	
	







Explanation: Correct answer: B

The post-audit is one of the most important elements of a good capital budgeting program. Given the importance of the information, time and effort should go into acquiring accurate information and explanations for both above normal and sub-par performance. However, post-audits relate to individual projects and not to shareholder enthusiasm and share price reaction to project-related events.
SECTOR QUIZ:1.C: The Basics of Capital Budgeting
	
	Question ID: 17302

A firm has two mutually exclusive projects: A has a 5-year life and a net present value (NPV) of $1,000. B has a 3-year life and a NPV of $600. If the firm's weighted average cost of capital (WACC) is 12 percent what should the firm do?


	
	A.
	Take B.


	
	B.
	Take A.


	
	C.
	Take both projects.


	
	D.
	Take neither projects. 

	
	
	







Explanation: Correct answer: B
PV =-1000, FV = 0, n=5, i=12 EAA = 277, B EAA = 250

	
	Question ID: 17321
An analyst has gathered the following information about a company:
· Cost = $10,000 

· Annual cash inflow = $4,000 

· Life = 4 years 

· Cost of capital = 12% 

Which of the following statements is FALSE?


	
	A.
	The payback period is 2.5 years.


	
	B.
	The IRR of the project is 21.9%; accept the project.


	
	C.
	The MIRR of the project is 9.5%; reject the project.


	
	D.
	The NPV of the project is +$2,129; accept the project. 

	
	
	







Explanation: Correct answer: C
First off, the NPV and the MIRR should give the same outcome for the same project. The real MIRR is 4000(n=3) = 5620, 4000(n=2) = 5018, 4000(n=1) = 4480, 4000(n=0) = 4000, sum = 19,118. PV = 10,000, FV = 19,118, n = 4, MIRR = i = 17.59. MIRR > cost of capital, accept project.

	
	Question ID: 17310
Tapley Acquisition, Inc., is considering the purchase of Tangent Company. The acquisition would require an initial investment of $190,000, but Tapley's after-tax net cash flows would increase by $30,000 per year and remain at this new level forever. Assume a cost of capitl of 15 percent. Should Tapley buy Tangent?


	
	A.
	Yes, because the NPV = $10,000.


	
	B.
	No, because k > IRR.


	
	C.
	Yes, because the NPV = $30,000.


	
	D.
	Yes, because the IRR < the cost of capital.

	
	
	







Explanation: Correct answer: A

This is similar to a perpetuity.
	PV =
	PMT
	=
	30,000
	=200,000

	
	I
	
	.15
	


200,000 - 190,000 = 10,000
	
	Question ID: 17304

Which of the following statements is FALSE?


	
	A.
	The payback method considers all cash flows throughout the entire life of a project.


	
	B.
	The cumulative net cash flow is the running total through time of a project's cash flows.


	
	C.
	The payback period is the number of years it takes to recover the original cost of the investment.


	
	D.
	The payback period provides a rough measure of a project's liquidity and risk. 

	
	
	







Explanation: Correct answer: A


	
	Question ID: 17307
Edelman Enginenering is considering including an overhead pulley system in this year's capital budget. The cash outlay for the pully system is $22,430. The firm's cost of capital is 14 percent. After-tax cash flows, including depreciation are $7,500 for each of the next 5 years. Calculate the IRR, the net present value (NPV), and the MIRR for the project and indicate the CORRECT accept/reject decision.
Year
Pulley
1
$7,500
2
$7,500
3
$7,500
4
$7,500
5
$7,500
Calculate the IRR, the (net present value) NPV and the MIRR for the project, and indicate the correct accept/reject decision.


	
	A.
	NPV
IRR
MIRR
Accept/Reject
$15,070
14%
16.23%
accept



	
	B.
	NPV
IRR
MIRR
Accept/Reject
$15,070
14%
16.23%
reject



	
	C.
	NPV
IRR
MIRR
Accept/Reject
$3,318
20%
17.19%
accept



	
	D.
	NPV
IRR
MIRR
Accept/Reject
$3,318
20%
13.52%
reject


	
	
	







Explanation: Correct answer: C

NPV = PV of cash flows - cost
PV of cash flows: N = 5, 14 = I, PMT = -7,500, FV = 0, CPT PV = 25748, NPV = 25748 - 22430 = 3318
IRR: S = N, -7,500 = PMT, 22430 = PV, 0 = FV, CPT I = 20%
MIRR: FV of cash flows: -7,500 = PMT, 14 = I, PV =0, S = N, CPT FV = 49576
0 = PMT, S = N, 49576 = FV,  -22430 = PV, CPT I = 17.19
Setup Text: 
An analyst has gathered the following data about a company with a 12 percent cost of capital:
	
	Project A
	Project B

	Cost
	$15,000
	$20,000

	Life
	5 years
	4 years

	Cash inflows
	$5,000/year
	$7,500/year

	
	Question ID: 17316

The company has two independent projects. What should the company do?


	
	A.
	Reject A, Accept B.


	
	B.
	Accept A, Accept B.


	
	C.
	Reject A, Reject B.


	
	D.
	Accept A, Reject B. 

	
	
	







Explanation: Correct answer: B
Independent projects accept all with + NPVs or IRR > cost of capital, A NPV = 3024, B NPV = 2780.

Setup Text: 
An analyst has gathered the following data about a company with a 12 percent cost of capital:
	
	Project A
	Project B

	Cost
	$15,000
	$20,000

	Life
	5 years
	4 years

	Cash inflows
	$5,000/year
	$7,500/year


	
	Question ID: 17316

A company has two mutually exclusive projects. What should the company do?


	
	A.
	Accept A, Accept B.


	
	B.
	Reject A, Accept B.


	
	C.
	Reject A, Reject B.


	
	D.
	Accept A, Reject B. 

	
	
	








Explanation: Correct answer: D
Accept the one with the highest NPV.

	
	Question ID: 17296
Which of the following statements regarding the internal rate of return (IRR) is FALSE? IRR equals:


	
	A.
	net income/net investment.


	
	B.
	cash flows-depreciation expense/net investment.


	
	C.
	cash flows/net return on investment.


	
	D.
	that rate of return which equates the present value of the project's expected cash inflows with the present value of the project's cost.

	
	
	







Explanation: Correct answer: C

IRR can also be defined as the rate of return for which the net present value of a project is zero.
	
	Question ID: 17324
A company estimates that its weighted average cost of capital (WACC) is 10 percent. Which of the following independent projects should the company accept?


	
	A.
	Project B has a mondified internl rate of return of 9.5%.


	
	B.
	Project A requires an up-front expenditure of $1,000,000 and generates a net present value (NPV) of $3,200.


	
	C.
	Project D has an internal rate of return of 9.5%.


	
	D.
	Project C requires an up-front expenditure of $1,000,000 and generates a positive internal rate of return of 9.7%.

	
	
	







Explanation: Correct answer: B

All the other projects are rejected because either their IRR or MIRR is less than the WACC of 10%.
	
	Question ID: 17312
If the calculated net present value (NPV) is negative, then which of the following must be TRUE? The discount rate used is:


	
	A.
	too low.


	
	B.
	less than the internal rate of return.


	
	C.
	Too high.


	
	D.
	equal to the internal rate of return.

	
	
	







Explanation: Correct answer: A


1. D: Cash Flow Estimation and Other Topics in Capital Budgeting
a: Distinguish between cash flows and accounting profits.
b: Define the following terms and discuss their relevance to capital budgeting; incremental cash flow, sunk cost, opportunity cost, externality, and cannibalization.
	
	Question ID: 17325

Which of the following is not a cash flow that results from the decision to accept a project?


	
	A.
	Changes in working capital.


	
	B.
	Sunk costs.


	
	C.
	Opportunity costs.


	
	D.
	Shipping and installation costs. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17328

Which of the following statements is FALSE?


	
	A.
	An incremental cash flow represents the change in the firm's total cash flow that occurs as a direct result of taking a project.


	
	B.
	If two projects are independent, the fact that they have unequal lives does not affect the analysis.


	
	C.
	A sunk cost is one that has already occurred.


	
	D.
	Financing charges are considered as in the incremental cash flow analysis. 

	
	
	







Explanation: Correct answer: D


c: Explain the importance of changes in net working capital in the capital budgeting process.
d: Define an expansion project and a replacement project.
	
	Question ID: 17329

Which of the following statements is FALSE?


	
	A.
	The replacement chain method compares mutually exclusive projects having different lives over a common time period assuming the projects are replaced.


	
	B.
	Sunk costs should not be considered in capital budgeting analysis.


	
	C.
	An expansion project is one where the firm replaces an existing asset with a newer or better asset.


	
	D.
	The initial cost of the project should include shipping, installation, and necessary changes in working capital. 

	
	
	








Explanation: Correct answer: C


e: Determine by NPV analysis whether a replacement project should be undertaken.
	
	Question ID: 17332
Jayco Inc. wants to buy a new printer. Jayco is looking at two mutually exclusive projects, A and B.
· Printer A costs $100,000 and generates positive after-tax cash flows of $75,000 at the end of each of the next two years. 

· Printer B also costs $100,000 and has positive after-tax cash flows of $50,000 at the end of each of the next four years. 

· Printer A can be replaced at the end of its life with the cash inflows and outflows remaining the same. No salvage value. 

Assuming a four-year replacement chain and a 10% cost of capital what is the NPV of Printer A and Printer B?


	
	A.
	A: $55,095, B: $58,493.


	
	B.
	A: $63,996, B: $56,884.


	
	C.
	A: $75,221, B: -$3,786.


	
	D.
	A: $58,493, B: $55,095. 

	
	
	







Explanation: Correct answer: A
A- 100,000 + 75,000 - 25,000 + 75,000 +75,000, and B-100,000 and 4 + 50,000 now just find the PV of each at 10%

f: Define initial investment outlay, operating cash flow over a project's life and terminal-year cash flow, and compute each for an expansion project and a replacement project.
Setup Text: 
Jayco, Inc. is considering the purchase of a new machine for $60,000 that will reduce manufacturing costs by $5,000 annually.
· Jayco will use the MACRS accelerated method (5 year asset) to depreciate the machine, and expects to sell the machine at the end of its 6-year operating life for $10,000. 

· The firm expects to be able to reduce net working capital by $15,000 when the machine is installed, but required working capital will return to the original level when the machine is sold after 6 years. 

· Jayco's marginal tax rate is 40 percent, and it uses a 12 percent cost of capital to evaluate projects of this nature. Use this data for the next 4 questions. 

	
	Question ID: 17336

What is the first year's modified accelerated cost recovery system (MACRS) depreciation?


	
	A.
	$15,000.


	
	B.
	$19,000.


	
	C.
	$10,000.


	
	D.
	$12,000. 

	
	
	







Explanation: Correct answer: D
(60,000)(.2)

Setup Text: 
Jayco, Inc. is considering the purchase of a new machine for $60,000 that will reduce manufacturing costs by $5,000 annually.
· Jayco will use the MACRS accelerated method (5 year asset) to depreciate the machine, and expects to sell the machine at the end of its 6-year operating life for $10,000. 

· The firm expects to be able to reduce net working capital by $15,000 when the machine is installed, but required working capital will return to the original level when the machine is sold after 6 years. 

· Jayco's marginal tax rate is 40 percent, and it uses a 12 percent cost of capital to evaluate projects of this nature. Use this data for the next 4 questions. 

	
	Question ID: 17336

What is the initial cash outlay?


	
	A.
	$75,000.


	
	B.
	$60,000.


	
	C.
	$45,000.


	
	D.
	$15,000. 

	
	
	







Explanation: Correct answer: C
(60,000 cost -15,000 NWC free up)

Setup Text: 
Jayco, Inc. is considering the purchase of a new machine for $60,000 that will reduce manufacturing costs by $5,000 annually.
· Jayco will use the MACRS accelerated method (5 year asset) to depreciate the machine, and expects to sell the machine at the end of its 6-year operating life for $10,000. 

· The firm expects to be able to reduce net working capital by $15,000 when the machine is installed, but required working capital will return to the original level when the machine is sold after 6 years. 

· Jayco's marginal tax rate is 40 percent, and it uses a 12 percent cost of capital to evaluate projects of this nature. Use this data for the next 4 questions. 

	
	Question ID: 17336

What is the first year's operating cash flow?


	
	A.
	$6,000.


	
	B.
	$7,800.


	
	C.
	$3,000.


	
	D.
	$4,800. 

	
	
	







Explanation: Correct answer: B
(5,000)(.6) + (60,000)(.2)(.4)

Setup Text: 
Jayco, Inc. is considering the purchase of a new machine for $60,000 that will reduce manufacturing costs by $5,000 annually.
· Jayco will use the MACRS accelerated method (5 year asset) to depreciate the machine, and expects to sell the machine at the end of its 6-year operating life for $10,000. 

· The firm expects to be able to reduce net working capital by $15,000 when the machine is installed, but required working capital will return to the original level when the machine is sold after 6 years. 

· Jayco's marginal tax rate is 40 percent, and it uses a 12 percent cost of capital to evaluate projects of this nature. Use this data for the next 4 questions. 

	
	Question ID: 17336

What is the terminal year's cash flow (not counting the last year's operating cash flow)?


	
	A.
	$21,000.


	
	B.
	($9000).


	
	C.
	$9,000.


	
	D.
	($4,000). 

	
	
	







Explanation: Correct answer: B
10,000-[(10,000)(.4)]-15,000

g: Compare two projects with unequal lives, using both the replacement chain and equivalent annual annuity approaches.
	
	Question ID: 17339

Jayco Inc. is evaluating two mutually exclusive investment projects. Assume both projects can be repeated indefinitely. Printer A has a net present value (NPV) of $20,000 over a three-year life and Printer B has a NPV of $25,000 over a five-year life. The project types are equally risky and the firm's cost of capital is 12 percent. What is the equivalent annual annuity (EAA) of project A and B?


	
	A.
	A: $3,567, B: $5,326.


	
	B.
	A: $8,327, B: $6,935.


	
	C.
	A: $6,935, B: $8,327.


	
	D.
	A: $7,592, B: $5,779. 

	
	
	







Explanation: Correct answer: B
PV = 20,000, N = 3, I = 12, PMT = 8,327, PV = 25,000, N = 5, I = 10, PMT = 6,935, Note take the highest EAA

h: Discuss the effects of inflation on capital budgeting analysis.
SECTOR QUIZ:1.D: Cash Flow Estimation and Other Topics in Capital 
Budgeting
	
	Question ID: 17337
Given the following information, what is the initial cash outflow?
Purchase price of the new machine
$8,000
Shipping and Installation charge
$2,000
Sale price of old machine
$6,000
Book value of old machine
$2,000
Inventory increases if installed
$3,000
Accounts payable increase if installed
$1,000
Tax rate
25%



	
	A.
	-10,000.


	
	B.
	-7,000.


	
	C.
	+2,000.


	
	D.
	-3,000. 

	
	
	







Explanation: Correct answer: B
(P S&I -10,000) + (Sale of old 6,000)-[tax effect (6,000-2,000)(.25)]-(NWC 3,000 out 1,000 in)

	
	Question ID: 17340

Which of the following statements is FALSE?


	
	A.
	For comparing mutually exclusive projects with unequal lives, replacement chain analysis leads to the same decision as obtained by calculating the equivalent annual annuity.


	
	B.
	The equivalent annual annuity approach assumes continuous replacements can and will be made each time the asset's life ends.


	
	C.
	In comparing mutually exclusive projects with unequal lives, you should always choose the project which has the highest NPV.


	
	D.
	Mutually exclusive projects sometimes have long and different lives, which makes applying the replacement chain method difficult because the lowest common denominator is very large. The equivalent annual annuity is a substitute method that uses the annuity concept to value a project's cash flows. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17331

Which of the following statements about replacement decisions is FALSE?


	
	A.
	The after-tax market value of the old equipment is treated as an initial cash inflow.


	
	B.
	The present value of depreciation expense on the new equipment multiplied by the tax rate is treated as an operating inflow.


	
	C.
	The present value of the after-tax benefits of a cost reduction resulting from a new investment is treated as an operating inflow.


	
	D.
	Any loss on the sale of the old equipment is multiplied by the tax rate and is treated as an initial cash outflow. 

	
	
	







Explanation: Correct answer: D
This is an inflow (a tax savings)

	
	Question ID: 17326

Which of the following statements is TRUE?


	
	A.
	The change in working capital for a project is the difference between the required increase in current assets and the increase in current liabilities and is always positive.


	
	B.
	The capital budgeting analysis for expansion and replacement projects is the same.


	
	C.
	Net cash flow for capital budgeting includes return on capital (net income) and return of capital (depreciation).


	
	D.
	The replacement decision involves an analysis of two independent projects where the relevant cash flows include the initial investment, additional depreciation, and the terminal value. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17334
Other things held constant, which of the following would increase the net present value (NPV) of a project being considered?


	
	A.
	The sale of the old machine, in a replacement decision, at a capital loss rather than at book value.


	
	B.
	A shift from MACRS to straight-line depreciation.


	
	C.
	Making the initial investment in the first year rather than spreading it over the first 3 years.


	
	D.
	A decrease in the discount rate associated with the project.

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17330

When evaluating a new project, the firm should consider all of the following factors EXCEPT:


	
	A.
	previous expenditures associated with a market test to determine the feasibility of the project.


	
	B.
	the depreciation expense shield on the new project.


	
	C.
	the current market value of any equipment to be replaced.


	
	D.
	changes in working capital attributable to the project. 

	
	
	







Explanation: Correct answer: A


1.D.A.: Appendix 11A
a: Define MACRS, half-year convention, and depreciable basis.
	
	Question ID: 17401
Which of the following statements is CORRECT? For a profitable firm, when MACRS accelerated depreciatin is compared to straight-line depreciation, MACRS accelerated allowances produce:


	
	A.
	Smaller accounting profits in the early years, assuming the company uses the same depreciation method for tax and book purposes.


	
	B.
	Larger total undiscounted profits from the project over the project's life.


	
	C.
	Larger cash flows in the earlier years of an asset's life.


	
	D.
	higher depreciation charges in the early years of an asset's life.

	
	
	







Explanation: Correct answer: B


b: Calculate depreciation for an asset using MACRS.
Setup Text: 
An analyst has been asked by the president of Ellis Construction Company to evaluate the proposed acquisition of a new earthmover. The mover's basic price is $50,000, and it will cost another $10,000 to modify it for special use by Ellis Construction. Assume that the mover falls into the MACRS 3-year class. See table for recovery allowance percentages. It will be sold after 3 years for $20,000, and it will require an increase in working capital (spare parts inventory) of $2,000. The earthmover purchase will have no effect on revenues, but it is expected to save Ellis $20,000 per year in before-tax operating costs, mainly labor. Ellis's marginal federal-plus-state tax rate is 40 percent.
	Recovery Allowance Percentage

	Year
	3-Year

	1
	33%

	2
	45%

	3
	15%

	4
	7%


	
	Question ID: 17402
What is the company's net investment if it acquires the earthmover? (That is, what are the Year 0 cash flows?)


	
	A.
	$58,000.


	
	B.
	$60,000


	
	C.
	$50,000.


	
	D.
	$62,000.

	
	
	







Explanation: Correct answer: D

	
	50,000 price

	+ 10,000 cost to modify

	+  2,000 working capital

	
	62,000


Setup Text: 
An analyst has been asked by the president of Ellis Construction Company to evaluate the proposed acquisition of a new earthmover. The mover's basic price is $50,000, and it will cost another $10,000 to modify it for special use by Ellis Construction. Assume that the mover falls into the MACRS 3-year class. See table for recovery allowance percentages. It will be sold after 3 years for $20,000, and it will require an increase in working capital (spare parts inventory) of $2,000. The earthmover purchase will have no effect on revenues, but it is expected to save Ellis $20,000 per year in before-tax operating costs, mainly labor. Ellis's marginal federal-plus-state tax rate is 40 percent.
	Recovery Allowance Percentage

	Year
	3-Year

	1
	33%

	2
	45%

	3
	15%

	4
	7%


	
	Question ID: 17402
What are the operating cash flows in years 1, 2, and 3?


	
	A.
	20,184,23,160,15,720.


	
	B.
	15,920,18,800,11,600.


	
	C.
	23,880,28,200,17,400.


	
	D.
	19,920,22,800,15,600.

	
	
	







Explanation: Correct answer: D

	Cash Flow1 
	=0-(-20,000)(1-.4) + (.33)(60,000)(.4)

	
	= 12,000 + 7920 = 19,920


	Cash Flow2 
	=0-(-20,000)(1-.4) + (.45)(60,000)(.4)

	
	= 12,000 + 10,800 = 22,800


	Cash Flow3 
	=0-(-20,000)(1-.4) + (.15)(60,000)(.4)

	
	= 12,000 + 3600 = 15,600


Setup Text: 
An analyst has been asked by the president of Ellis Construction Company to evaluate the proposed acquisition of a new earthmover. The mover's basic price is $50,000, and it will cost another $10,000 to modify it for special use by Ellis Construction. Assume that the mover falls into the MACRS 3-year class. See table for recovery allowance percentages. It will be sold after 3 years for $20,000, and it will require an increase in working capital (spare parts inventory) of $2,000. The earthmover purchase will have no effect on revenues, but it is expected to save Ellis $20,000 per year in before-tax operating costs, mainly labor. Ellis's marginal federal-plus-state tax rate is 40 percent.
	Recovery Allowance Percentage

	Year
	3-Year

	1
	33%

	2
	45%

	3
	15%

	4
	7%

	
	Question ID: 17402
What is the terminal year cash flow?


	
	A.
	$27,280.


	
	B.
	$27,680.


	
	C.
	$31,280.


	
	D.
	$29,280.

	
	
	







Explanation: Correct answer: C

Terminal year cash flow
Return of NWC $2,000
Salvage Value 20,000
Book Value
	cost - acc.dep

	60,000 - 55800=4200

	
	

	Gain

	20,000 - 4200 = 15800

	Taxes

	(15800)(.4)=
	-6320

	
	

	Cash Flow 3
	=31280


Setup Text: 
An analyst has been asked by the president of Ellis Construction Company to evaluate the proposed acquisition of a new earthmover. The mover's basic price is $50,000, and it will cost another $10,000 to modify it for special use by Ellis Construction. Assume that the mover falls into the MACRS 3-year class. See table for recovery allowance percentages. It will be sold after 3 years for $20,000, and it will require an increase in working capital (spare parts inventory) of $2,000. The earthmover purchase will have no effect on revenues, but it is expected to save Ellis $20,000 per year in before-tax operating costs, mainly labor. Ellis's marginal federal-plus-state tax rate is 40 percent.
	Recovery Allowance Percentage

	Year
	3-Year

	1
	33%

	2
	45%

	3
	15%

	4
	7%


	
	Question ID: 17402
If the project's cost of capital is 10%, what is the net present value (NVP) of the project?


	
	A.
	-$1,547.


	
	B.
	-$4,552.


	
	C.
	-$3,050.


	
	D.
	-$4,252.

	
	
	







Explanation: Correct answer: A

	NPV = -62,000 
	19920
	+
	22800
	+
	31280

	
	(1.10)1
	
	(1.10)2
	
	(1.10)3


= -62,000 + 18109 + 18843 + 23501= -1547
1. E: Risk Analysis and the Optimal Capital Budget
a: Distinguish among three types of project risk; stand-alone, corporate, and market.
	
	Question ID: 17342

Which of the following statements is FALSE?


	
	A.
	Corporate risk is important even if the stockholders of the are well diversified.


	
	B.
	It is easier to measure market and corporate risk than it is to measure stand-alone risk.


	
	C.
	Stand-alone risk, corporate risk, and market risk are highly correlated.


	
	D.
	Empirical studies show that both market and corporate risk affect stock prices. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 25021
Focusing on a project’s individual risk and ignoring the fact that a project is part of the firm’s portfolio of assets is known as:


	
	A.
	stand-alone risk.


	
	B.
	market risk risk.


	
	C.
	within-firm risk.


	
	D.
	corporate risk.

	
	
	







Explanation: Correct answer: A

Stand-alone risk is a measure of the variability of a project’s expected returns without concern for other projects accepted by the firm. Given its single-project focus, it is considered to be easier to measure.
	
	Question ID: 25022
The measure of a project’s contribution to a firm’s total risk, which is important to undiversified shareholders, is known as:


	
	A.
	market risk.


	
	B.
	corporate risk.


	
	C.
	stand-alone risk.


	
	D.
	beta risk.

	
	
	







Explanation: Correct answer: B

Corporate risk is the project’s contribution to the firm’s total risk and takes into account that the project is part of the firm’s portfolio of assets. Some economic conditions may favor one project over another. As economic, industry, and firm conditions change, so, too, does the success of any one project. An undiversified shareholder’s risk depends upon the performance of the company as a whole. Corporate risk considers the variability of a project’s cash flows relative to those of the other projects taken on by the corporation. Market risk, on the other hand, considers individual project success and failure relative to projects at other companies, making this risk important to the diversified stockholder. 
b: Distinguish among sensitivity analysis, scenario analysis, and Monte Carlo simulation as risk analysis techniques.
	
	Question ID: 25023
Which of the following statements about sensitivity analysis is FALSE?


	
	A.
	Sensitivity analysis can be applied to each of the independent variables used in analysis.


	
	B.
	Sensitivity analysis starts with the best-case scenario.


	
	C.
	The steeper the slope of the NPV versus the variable, the more sensitive the output variable is to a change in the input variable.


	
	D.
	Sensitivity analysis alters a single independent variable to determine the impact on the output variable.

	
	
	







Explanation: Correct answer: B

In sensitivity analysis, you start with the ¡°base-case¡± scenario. In this case, you use the company's projected cash flows as the inputs to calculate the net present value (NPV) of a project. Hopefully, supporters of a project are providing realistic information, although it may be on the optimistic side. In a ¡°best-case¡± scenario, revenues would be excessively high, while expenses would be excessively low.
	
	Question ID: 17345

Which of the following statements about Monte Carlo simulation is TRUE?


	
	A.
	Produces both an expected value and a measure of the variability of that value.


	
	B.
	All of these choices are correct.


	
	C.
	Is capable of using probability distributions for variables as input data.


	
	D.
	Can be useful for estimating the stand-alone risk of a project. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 25024
Which of the following simulation techniques computes as many as 1,000 net present values, based on multiple values for each cash flow?


	
	A.
	Scenario analysis.


	
	B.
	Sensitivity analysis.


	
	C.
	Variable input estimation.


	
	D.
	Monte Carlo simulation.

	
	
	







Explanation: Correct answer: D

Through the computation of multiple net present values, Monte Carlo simulation provides insight to the possible distribution of net present values arising from a project. Scenario analysis, on the other hand focuses on the worst case, best case, and base case. Sensitivity analysis inputs could be modified 1,000 times, but typically only one variable is changed at a time from the base case scenario. Although variable input estimation is not a simulation technique, financial managers must be careful to select reasonable variables for the input parameters.
c: Describe how the security market line is used in the capital budgeting process.
	
	Question ID: 25026
Tamsen, Inc.’s, long-term financing comes entirely from shareholders. Tamsen has a beta of 0.8. Assume that investors anticipate the risk-free rate to be 4 percent and the market to offer a 10 percent rate of return in the future. Using the security market line, the required rate of return is:


	
	A.
	15.2%.


	
	B.
	8.8%.


	
	C.
	4.8%.


	
	D.
	12.0%.

	
	
	







Explanation: Correct answer: B

Using the security market line equation , kproject equity = kRF + (kMarket-kRF)Betaproject,: 0.04 + (0.10-0.04)0.8 = 0.04 + (0.06)0.8 = 0.04 + 0.048 = 0.088, or 8.8 percent.
	
	Question ID: 17348

If a company does not adjust its discount rate to reflect the riskiness of the project, the company will probably do all of the following except:


	
	A.
	select projects that do not fall on the security market line.


	
	B.
	reject good, low risk projects.


	
	C.
	accept too many medium risk projects.


	
	D.
	accept poor, high risk projects. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 25025
The security market line (SML) identifies:


	
	A.
	project revenues.


	
	B.
	share price.


	
	C.
	a project's required rate of return.


	
	D.
	a project's weighted average cost of capital.

	
	
	







Explanation: Correct answer: C

The SML multiples beta times the market risk premium, which is the market return in excess of the risk-free rate. This sum is essentially a return for taking the amount of risk specified by the beta value and is added to the risk-free rate. Share price is based upon the risk of a firm’s projects, plus the cash flows being generated. A project’s weighted average cost of capital depends upon the percentage of financing coming from each potential source, the cost each potential source, and tax rate. The security market derived required rate of return is one of many factors used in calculating the weighted average cost of capital.
d: Describe the pure play and accounting beta methods for estimating individual project betas.
	
	Question ID: 25027
United Bearings has two primary products, one of which is wheel chairs. Whenever projects are proposed for this division, United Bearings uses Vestel Manufacturing’s beta of 0.85 to estimate project beta. Vestel is a firm specializing in the manufacture of wheel chairs. For project beta risk estimation, United Bearings has apparently adopted the:


	
	A.
	certainty equivalent approach.


	
	B.
	competitive risk level method.


	
	C.
	pure-play method.


	
	D.
	accounting beta method.

	
	
	








Explanation: Correct answer: C

In the pure-play method a financial manager identifies companies with single product lines similar to the project being evaluated. As long as these companies are publicly held, estimates of beta are available from many sources (i.e., Value Line and Yahoo!). An average of the betas of one or more similar companies is used to estimate the project beta. As long as these firms are available, the pure-lay method of risk measurement is easier than computing the regression of the accounting beta method. One cannot simply identify competitors, but must verify that their product line is similar to the one for which systematic risk is being estimated. 
	
	Question ID: 17349

Which of the following statements is FALSE?


	
	A.
	The scenario analysis method of measuring risk considers sensitivity as well as variability while the sensitivity analysis method only considers the sensitivity of the dependent variable upon the independent variable.


	
	B.
	The pure play method of measuring beta risk relies on regression analysis while the accounting beta method relies on averaging the beta coefficients of single product firms similar to the project being considered.


	
	C.
	Corporate risk considers the project's contribution to the firm's total risk while market risk considers the impact of the project on the firm's beta.


	
	D.
	In the absence of capital rationing the firm should invest in new projects up to the point where the firm's marginal cost of capital schedule intersects with the firm's investment opportunity schedule. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 25028
Western Models makes a unique product. Which of the following could Western Models use to estimate a project’s cost of capital?


	
	A.
	Add the risk-free rate to the market's expected rate of return.


	
	B.
	Pure-play method.


	
	C.
	Accounting beta method.


	
	D.
	Subtract the risk-free rate from the market's expected rate of return.

	
	
	







Explanation: Correct answer: C

When using the accounting beta method, Western Models would regress its accounting return on assets against the S&P return on assets. The key issue is the correlation of these two measures, estimated using the slope coefficient of this regression. The pure-play method of using beta of companies with similar product lines does not work, because of Western Models’ unique product. Once computed, accounting beta is used as an input for the security market line equation, by multiplying the accounting beta times the market’s excess return and adding the risk-free rate. 
e: Define and discuss the procedure for developing a risk-adjusted discount rate.
	
	Question ID: 25029
The discount rate is adjusted upward or downward from the firm’s normal cost of capital in order to incorporate differences in project risk in the:


	
	A.
	certainty equivalent approach.


	
	B.
	weighted average cost of capital (WACC) approach.


	
	C.
	risk-adjusted discount rate approach.


	
	D.
	Monte Carlo simulation method.

	
	
	







Explanation: Correct answer: C

In the risk-adjusted discount rate approach, the firm’s cost of capital is first determined, using the security market line if it is an all-equity firm or WACC if the financing comes from a combination of creditors and investors. The discount rate is then adjusted upward or downward from the firm’s normal cost of capital in order to incorporate differences in project risk. With risk-adjusted discount rates the discount rate is adjusted in response to project risks being different from corporate risk. By contrast, in the certainty equivalent approach, the cash flows themselves are adjusted upward (less risky) or downward (more risky) to reflect their risk. Monte Carlo simulations tie together sensitivities and probability distributions of input variables and are one of several means to estimate a project’s risk.
	
	Question ID: 25031
To save money, the Zing Company has decided to use the same discount rate to evaluate all projects. What will be the impact on the riskiness of the projects selected and Zing’s firm value?


	
	A.
	Project Risk Declines, Firm Value Declines.


	
	B.
	Project Risk Rises, Firm Value Declines.


	
	C.
	Project Risk Declines, Firm Value Rises.


	
	D.
	Project Risk Rises, Firm Value Rises.

	
	
	







Explanation: Correct answer: B

By adopting a single discount rate to evaluate all projects, low risk projects, which typically have a lower return, are less likely to be approved. Meanwhile, high-risk projects would benefit from having the same discount rate applied to each opportunity. It will not be long before investors recognize the aggressive nature of Zing’s projects and reduce the price they are willing to pay for such an adventuresome firm, especially in light of it passing up its more secure opportunities.
	
	Question ID: 25030
Xerxes & Young uses the risk-adjusted discount rate procedure of incorporating project risk into the capital budgeting process. Assume that a low-risk design enhancement project has been proposed by Xerxes & Young’s below average risk packaging division. How would Xerxes & Young adjust the discount rate for this redesign project in comparison to the firm’s overall discount rate? It will be:


	
	A.
	increased for the division, but reduced for the project-specific risk characteristics. 


	
	B.
	reduced for the division, but raised for the project-specific risk characteristics. 


	
	C.
	increased for both the division and project-specific risk characteristics.


	
	D.
	reduced for both the division and project-specific risk characteristics.

	
	
	







Explanation: Correct answer: D

When using the risk-adjusted discount rate approach, as risks decline, investors reduce the required rate of return. In this case, both the packaging division and packaging redesign project have less risk than that of the business’ typical division and project, respectively. Hence, the firm’s overall discount rate would be reduced for both the division and specific project being contemplated. A reduced discount rate will enhance the present value of the future cash flows, relative to a high-risk division or a project with more cash flow uncertainty.
SECTOR QUIZ:1.E: Risk Analysis and the Optimal Capital Budget
	
	Question ID: 17341

Which of the following statements is FALSE?


	
	A.
	In the absence of capital rationing, a firm should take all projects that offer a return greater than the marginal cost of capital.


	
	B.
	The marginal cost of capital occurs where the investment opportunity schedule intersects the marginal cost of capital schedule.


	
	C.
	If a project is riskier than the normal project then the firm should adjust the discount rate upward.


	
	D.
	In the certainty equivalent approach of handling risk, the projected future cash flows are adjusted upward to reflect the variability of expected returns. 

	
	
	







Explanation: Correct answer: D


	
	Question ID: 25033
Adobe Tools, which has a target capital structure of 70 percent equity and 30 percent debt, has a corporate beta coefficient of 1.25.  The financial manger is evaluating a project with in internal rate of return of 13 percent.  The project being evaluated is riskier than Abode Tools’ average project, resulting in a 2 percent increase in the discount rate.  Additional information is given below:

· Risk-free rate is 5% 

· Required return on the market is 12% 

· Bondholders require an 8% rate of return 

· Adobe Tools is in the 30% combined tax bracket 

Which of the following statements is CORRECT?


	
	A.
	Since the project earns more than the risk-free rate or the market's required rate of return it should be selected. 


	
	B.
	Since Adobe Tools is in the 30% tax bracket, it should not take this project.


	
	C.
	Since the project earns more than the weighted average cost of capital, it should be accepted. 


	
	D.
	Since the project earns less than the risk-adjusted discount rate, it should be rejected.

	
	
	







Explanation: Correct answer: D

The tax bracket is needed to calculate the after-tax cost of debt but does not serve as a hurdle rate for direct use in project selection.  The three steps in project analysis are:

Step 1:  Calculation of weighted average cost of capital for firm    
WACCfirm = wdkd(1-t) + wsks = 0.3(0.08)(1-.3) + 0.7(0.05 + 1.25(0.12-0.05))
= 0.3(0.056) + 0.7[13.75]   = 0.0168 + 0.0963 = 0.1131 or 11.31 percent.
Step 2: Adjust the weighted average cost of capital for the project’s risk
Adjusted WACC = 0.1131 + 0.0200 = 0.1331 or 13.31 percent.
Step 3: Compare adjusted weighted average cost of capital with project’s return
            Adjusted WACC = 13.31 percent > 13.00 rate of return.
Since the project’s risk-adjusted required rate of return exceeds the projects internal rate of return, the project should be rejected.

	
	Question ID: 17344

Which of the following statements is FALSE?


	
	A.
	Scenario analysis is a risk analysis technique that considers both the sensitivity of the dependent variable to changes in the independent variables and the range of likely values of these variables.


	
	B.
	In sensitivity analysis, the dependent variable is plotted on the y-axis and the independent variable on the x-axis. The steeper the slope on the resulting line the less sensitive the dependent variable is to changes in the independent variable.


	
	C.
	Sensitivity analysis is incomplete, because it fails to consider the probability distributions of the independent variables.


	
	D.
	In Monte Carlo simulation, probable future events are simulated on a computer generating estimated rates of return and risk indexes. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 25032
Which of the following is CORRECT?


	
	A.
	Monte Carlo simulations produce both the required return of a security and the relevant WACC.


	
	B.
	A company that does not adjust the discount rate for differences in project risk is likely to accept an excessive number of low risk projects.


	
	C.
	The financial manager of a large corporation should view stand alone risk as most important because of its impact on debt capacity, credit worthiness, and job stability.


	
	D.
	In a graphical depiction of sensitivity analysis, the project with the steeper line would be considered most risky, because a small error in estimating a variable, such as unit sales, will produce a large error in the net present value's prediction.

	
	
	







Explanation: Correct answer: D

The steeper the sensitivity analysis profile, the more important it is to accurately forecast that variable’s true level. Financial managers are typically most sensitive to corporate, or within firm risk. Monte Carlo simulations produce measures of anticipated net present value means and distributions, not the required return and WACC. Those companies not reducing required returns for projects with lower risk will end up accepting a higher number of high risk projects.
	
	Question ID: 17351

Which of the following statements is FALSE?


	
	A.
	Mutually exclusive projects should be analyzed using the average WACC.


	
	B.
	If investors are not well diversified, they may want management to concentrate more on project risk than on market (beta) risk.


	
	C.
	The pure play approach to risk analysis adjusts the cost of equity capital based on the average beta coefficients of existing firms similar to the project.


	
	D.
	The riskier the income stream of the project, the higher the discount rate should be. 

	
	
	







Explanation: Correct answer: A


1. F: Capital Structure and Leverage
a: Define target capital structure and optimal capital structure.
	
	Question ID: 17354

Which of the following statements is TRUE? The optimal capital structure:


	
	A.
	minimizes the cost of debt, the cost of equity, and the WACC.


	
	B.
	minimizes the WACC and maximizes the share price.


	
	C.
	is found by determining the debt-equity mix that maximizes expected EPS.


	
	D.
	minimizes the cost of equity and maximizes the WACC. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17357
Given the following information, what would be the optimal capital structure if the firm's growth rate were 2 percent?
Debt Ratio
Expected Dividends
Cost of Equity, ks
0%
$5.00
11%
25%
$6.00
12%
40%
$6.50
13%
50%
$7.00
14%
75%
$7.50
15%



	
	A.
	75% debt, 25% equity.


	
	B.
	25% debt, 75% equity.


	
	C.
	50% debt, 50% equity.


	
	D.
	0% debt, 100% equity. 

	
	
	







Explanation: Correct answer: B
5/(11-2) = 55, 6/(12-2) = 60, 6.5/(13-2) = 59, 60 is max, so optimal must be 25%

	
	Question ID: 25034
A firm's optimal debt ratio:


	
	A.
	is a value equal to 1.0.


	
	B.
	minimizes risk.


	
	C.
	is the firm's target capital structure.


	
	D.
	maximizes return.

	
	
	







Explanation: Correct answer: C

The optimal debt ratio for a firm balances the influences of risk and return, leading to a maximization of share price. As such, the optimal debt ratio serves as a target level of debt financing for the value-maximizing firm. A debt ratio of 1.0 would be possible only if one hundred percent of the firm were financed with debt, eliminating equity ownership. Such a scenario is impossible.
b: Describe and state the impact of changes in factors that influence a company's capital structure decision.
	
	Question ID: 25036
Which of the following firms is likely to have a higher debt ratio?


	
	A.
	Critter Care, which has a low debt rating due to the prior financial mismanagement by the chief executive officer.


	
	B.
	Bath & Books, which produces toiletries and other consumer staples that are in demand regardless of economic conditions.


	
	C.
	Donaldson & Friends, which is under the direction of a very conservative management team.


	
	D.
	Egg Harbor Furs, which serves as a wholesaler of fine furs and garments.

	
	
	







Explanation: Correct answer: B

Bath and Books appears to have relatively little business risk, especially in relation to Egg Harbor Furs, which is likely to be a much more cyclical business. The conservative managers will likely minimize the amount of debt Donaldson & Friends incurs, while creditors will be less willing to lend funds to Critter Care whose managers have shown poor money management skills in the past.
	
	Question ID: 25035
Which of the following firms is most likely to utilize additional debt the next time it raises capital? The firm:


	
	A.
	that has many new fixed assets.


	
	B.
	whose current debt ratio is higher than the industry average.


	
	C.
	firm that has experienced significant losses in recent years.


	
	D.
	in a high tax bracket.

	
	
	







Explanation: Correct answer: D

The value of tax deductibility rises with tax rates. Of course, there are other ways to reduce taxes. Firms with many new assets are probably also benefiting from high levels of depreciation. Firms with above average debt ratios may be limited in terms of financial flexibility and are likely to already have a significant tax write-off from debt outstanding. Finally, firms with recent losses may be avoiding taxes by writing off those losses.
	
	Question ID: 17359

Jayco Inc. currently has a D/A ratio of 33.33 percent but feels its optimal D/A ratio should be 16.67 percent. Sales are currently $750,000, and the total assets turnover (Sales/Assets) is 7.5. If Jayco needs to raise $100,000 to expand, how should the expansion be financed so as to produce the desired debt ratio? Finance it with:


	
	A.
	all debt.


	
	B.
	all equity.


	
	C.
	25% debt, 75% equity.


	
	D.
	75% debt, 25% equity. 

	
	
	







Explanation: Correct answer: B
S/A = 7.5 = 750,000/A, so A = $100,000, D/100,000 = 33.33, want to change D/A to 16.67, so must double A so the 100,000 must be all equity.

c: Explain business risk and financial risk and discuss factors that influence each risk.
	
	Question ID: 25037
The uncertainty in return on assets due to the nature of a firm’s operations is known as:


	
	A.
	business risk.


	
	B.
	financial flexibility.


	
	C.
	financial leverage.


	
	D.
	tax efficiency.

	
	
	







Explanation: Correct answer: A

Business risk is a function of the firms revenue and expenses, resulting in operating income, or earnings before interest and taxes (EBIT). The main factors affecting business risk are demand variability, sales price variability, input price variability, ability to adjust output prices, and operating leverage. Tax efficiency is tied to mutual fund investing, while both financial leverage and financial flexibility require the existence of debt.
	
	Question ID: 17360

Which of the following factors does NOT affect business risk?


	
	A.
	Input price variability.


	
	B.
	Interest rate variability.


	
	C.
	Operating leverage.


	
	D.
	Demand variability. 

	
	
	








Explanation: Correct answer: B


	
	Question ID: 25038
Hughes Continental is assessing its business risk. Which of the following factors would NOT be considered in the analysis?


	
	A.
	Unit sales trends.


	
	B.
	Unit sales levels.


	
	C.
	Input price variability.


	
	D.
	Use of preferred stock instead of common stock to finance acquisitions.

	
	
	







Explanation: Correct answer: D

The main factors affecting business risk are demand variability, sales price variability, input price variability, ability to adjust output prices, and operating leverage. Although preferred stock is referred to as ¡°stock,¡± it represents a claim to the company revenues that comes prior to that of common shareholders. This claim may be in the form of annual dividends, which typically cannot be overlooked by the managers of the company. Product sales and input prices influence a company’s performance regardless of whether preferred stock (or debt) is issued.
d: Explain and calculate the effects of changes in sales or earnings before interest and taxes (EBIT) on earnings per share for companies with differing amounts of debt financing.
	
	Question ID: 17361

Jayco Inc. is an all equity company with 100,000 shares outstanding priced at $50 per share (ks = 12%). Jayco pays out all of its after-tax earnings in dividends, EBIT is $1,000,000. The tax rate is 40 percent. If Jayco borrows $1,000,000 at 10 percent and buys back its own stock at current market price of $50 per share, what would their stock price adjust to if ks shifted upward to 13 percent to reflect the new level of risk to the stockholders?


	
	A.
	$51.92.


	
	B.
	$53.33.


	
	C.
	$47.43.


	
	D.
	$50.00. 

	
	
	







Explanation: Correct answer: A
Buy back 20,000 shares, EAT = [EBIT 1,000,000 -I 100,000](1-.6) = 540,000, EPS = 540,000/80,000 = 6.75, P = D/ks=6.75/.13 = 51.92

	
	Question ID: 25041
Host Fibers and Junior Films both have $2.8 million in sales, variable costs of 80 percent of sales, and fixed costs of $120,000. Host Fibers utilizes a greater amount of debt financing and pays annual interest expenses of $110,000, while Junior Films annual interest expenses are $55,000. If each firm’s earnings before interest and taxes (EBIT) increases by 10 percent, by how much will their earnings per share increase? The choices below represent Host Fibers and Junior Films, respectively.


	
	A.
	7.5%, 8.8%


	
	B.
	4.0%, 12.5%


	
	C.
	13.3%, 11.4%


	
	D.
	40.0%, 80.0%

	
	
	







Explanation: Correct answer: C


Sales = $2,800,000                  $2,800,000
Operating Costs (0.8)                 -2,240,000
Fixed Costs                         -120,000
EBIT
                          $440,000
Degree of Financial LeverageHost Fibers = $440,000/(440,000-110,000)  = 1.33
Degree of Financial LeverageJunior Films = $440,000/(440,000-55,000)  = 1.14
EPS Increase Host Fibers  = 1.33*0.10 = 0.133, or 13.3%
EPS Increase Junior Films = 1.14*0.10 = 0.114, or 11.4%
	
	Question ID: 25040
If a firm uses debt financing and sales rise from their current level:


	
	A.
	the percentage change in net income will equal the percentage change in operating income.


	
	B.
	earnings before interest and taxes depends upon the interest rate charged on debt.


	
	C.
	the percentage change in net income will be less than the percentage change in net operating income.


	
	D.
	the percentage change in net income will be greater than the percentage change in net operating income.

	
	
	







Explanation: Correct answer: D

The fixed cost associated with debt financing magnifies the effect changes in sales have on earnings per share. Risk effectively increases because there is a magnification of gains or losses depending on whether sales rise or fall. Earnings before interest and taxes, or net operating income, is based upon a company’s business dealings and not its financing. 
e: Define operating leverage and explain how it affects a project's or company's expected rate of return.
	
	Question ID: 17362

Which one of the following is a key determinant of operating leverage?


	
	A.
	The competitive nature of the business.


	
	B.
	Level and cost of debt.


	
	C.
	The tradeoff between fixed and variable costs.


	
	D.
	The firm's beta. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 25045
An analyst has gathered the following expenditure information for four different firms, each of which has a sales level of $4 million.?  
 
Costs for firms under consideration
All values in millions of dollars
 
Firm A
Firm B
Firm C
Firm D
Variable Costs
$2.40
$2.00
$0.80
$2.80
Fixed Costs
$1.20
$1.00
$2.80
$1.40
Interest Expense
$0.00
$0.20
$0.00
$0.20
Which firm has the highest level of operating leverage?



	
	A.
	Firm C.


	
	B.
	Firm B.


	
	C.
	Firm A.


	
	D.
	Firm D.

	
	
	







Explanation: Correct answer: A

The percentage of total costs that are fixed for the four companies is as follows:
Firm A: $1.20 /($2.40 + $1.20) = $1.20 /$3.60 = 0.33
Firm B: $1.00 /($2.00 + $1.00) = $1.00 /$3.00 = 0.33
Firm C: $2.80 /($0.80 + $2.80) = $2.80 /$3.60 = 0.78
Firm D: $1.40 /($1.40 + $2.80) = $1.40 /$4.20 = 0.33

Note: Interest expense does not play a role in this analysis. 
	
	Question ID: 25043
Which of the following statements about operating leverage is FALSE?


	
	A.
	Lower operating leverage generally produces a lower expected rate of return.


	
	B.
	A firm with a high percentage of its total costs being fixed has high operating leverage.


	
	C.
	Firms with high operating leverage experience greater variance in operating income.


	
	D.
	Operating leverage reflects the tradeoff between variable costs and fixed costs.

	
	
	







Explanation: Correct answer: A

Operating leverage is the trade off between fixed and variable costs. Higher operating leverage typically is indicative of a firm with higher levels of risk (greater income variance). Given the positive risk/return relationship, higher operating leverage firms are expected to have a higher rate of return.
f: Calculate the breakeven quantity of sales and determine the company's gain or loss at various sales levels.
	
	Question ID: 25047
Annual fixed costs at King Mattress amount to $325,000. The variable cost of raw materials and labor is $120 for the typical mattress. Sales prices for mattresses average $160. How many units must King Mattress sell in order to break even?


	
	A.
	8,125


	
	B.
	40.


	
	C.
	2,708.


	
	D.
	2,031.

	
	
	







Explanation: Correct answer: A

QBreakeven = Fixed Cost / (Price-Variable Cost)
QBreakeven = $325,000 / (160-120) = 8,125 
	
	Question ID: 17364

Given: price = $35 per unit, variable cost = $15 per unit, and total cost = $200,000. If sales equal 10,000 units what is the firm's break-even point?


	
	A.
	3,500 units.


	
	B.
	1,750 units.


	
	C.
	3,000 units.


	
	D.
	2,500 units. 

	
	
	






Explanation: Correct answer: D
QBE = [FC] / (P - V) 

FC = TC - VC = 200000 - 150000 = 50000 

Q = [50000] / (35 - 15) = 2500 
	
	Question ID: 17367

Jayco Inc. sells pens for $7 each. Variable cost are $5 per pen. Jayco is currently operating at its breakeven point of 200 pens. If variable costs are reduced by $1, how much more money can Jayco put into fixed cost advertising and still breakeven?


	
	A.
	$600.


	
	B.
	$200.


	
	C.
	$333.


	
	D.
	$425. 

	
	
	







Explanation: Correct answer: B
200=F/(7-5), so F = 400, now 200 = (400 +X)/(7-4), so X must be 200

g: Define financial leverage.
	
	Question ID: 25052
Financial risk is borne by:


	
	A.
	common shareholders.


	
	B.
	preferred shareholders.


	
	C.
	managers. 


	
	D.
	creditors.

	
	
	







Explanation: Correct answer: A

Common shareholders are the residual owners of the company. As such, they experience the benefits of above normal gains in good times and the pain of losses when the business is in a slow period. Financial leverage magnifies the variability of earnings per share due to the existence of the required interest payments. 
	
	Question ID: 25049
Financial leverage magnifies:


	
	A.
	operating income variability.


	
	B.
	taxes.


	
	C.
	earnings per share variability.


	
	D.
	dividends.

	
	
	







Explanation: Correct answer: C

Financial leverage results in the existence of required interest payments and, hence, increased earnings per share variability. Higher debt ratios, given a fixed asset base, entail a greater earnings per share variability. Operating income is based on the products and assets of the firm and not on the firm’s financing and, hence, has no impact on financial leverage. Greater financial leverage is likely to reduce taxes due to the tax deductibility of interest payments. 
	
	Question ID: 25050
Financial leverage would NOT be increased if a firm financed its next project with:


	
	A.
	common stock.


	
	B.
	bonds maturing in 30 years.


	
	C.
	bonds maturing in 5 years.


	
	D.
	bonds with embedded call options.

	
	
	







Explanation: Correct answer: A

Financial leverage is the result of financing assets with fixed income securities. It does not matter whether the company is using short-term debt or long-term debt. Each of these alternatives has a required payment component that increases the risk of the firm beyond that arising solely from business risk.
h: Calculate degree of operating leverage, degree of financial leverage, and degree of total leverage.
	
	Question ID: 17368

Given: EBIT will change 5 percent when sales change 10 percent. EPS will change 20 percent when EBIT changes 5 percent. Which of the following statements is FALSE?


	
	A.
	The degree of financial leverage is 4.


	
	B.
	The degree of operating leverage is 2.


	
	C.
	The degree of total leverage is 2.


	
	D.
	The firm relies heavily upon variable costs over fixed costs. 

	
	
	







Explanation: Correct answer: B
DOL = .05/.1 = .5 DOL is less than 1 so firm uses VC over FC.

	
	Question ID: 17375
A company currently sells 75,000 units annually. At this sales level, its earnings before taxes (EBIT) is $4 million, and its degree of total leverage is 2.0. The firm's debt consists of $15 million in bonds with a 9.5 percent coupon. The company is considering a new production method that will entail an increase in fixed costs but a decrease in variable costs and will result in a degree of operating leverage of 1.6. The president, who is concerned about the stand-alone risk of the firm, wants to keep the degree of total leverage at 2.0. If EBIT remains at $4 million, what amount of bonds must be retired to accomplish this?


	
	A.
	$9.19 million.


	
	B.
	$8.42 million.


	
	C.
	$7.63 million.


	
	D.
	$6.58 million.

	
	
	







Explanation: Correct answer: D

DTL = (DFL)(DOL)
Setup Text: 

If Jayco Inc. increases sales by 10 percent, Jayco's EBIT increases by 15 percent. If Jayco Inc. increases EBIT by 10 percent, EPS increases by 12 percent.

	
	Question ID: 17369

What is Jayco's degree of operating leverage?


	
	A.
	1.5.


	
	B.
	1.8.


	
	C.
	1.2.


	
	D.
	2.0. 

	
	
	







Explanation: Correct answer: A
.15/.1

Setup Text: 

If Jayco Inc. increases sales by 10 percent, Jayco's EBIT increases by 15 percent. If Jayco Inc. increases EBIT by 10 percent, EPS increases by 12 percent.

	
	Question ID: 17369

What is Jayco's degree of financial leverage?


	
	A.
	1.5.


	
	B.
	2.0.


	
	C.
	1.2.


	
	D.
	1.8. 

	
	
	







Explanation: Correct answer: C
.12/.1

Setup Text: 

If Jayco Inc. increases sales by 10 percent, Jayco's EBIT increases by 15 percent. If Jayco Inc. increases EBIT by 10 percent, EPS increases by 12 percent.

	
	Question ID: 17369

What is Jayco's degree of total leverage?


	
	A.
	1.2.


	
	B.
	1.8.


	
	C.
	2.0.


	
	D.
	1.5. 

	
	
	







Explanation: Correct answer: B
(1.5)(1.2)

	
	Question ID: 17374
Coats Corporation generates $10,000,000 in sales. Its variable costs equal 85 percent of sales, and its fixed costs are $500,000. Therefore, the company's earnings before(EBIT) equals $1,000,000. The company estimates that if its sales were to increase 10 percent, its net income and EPS would increase 17.5 percent. What is the company's interest expense? (Assume that the change in sales would have no effect on the company's tax rate.)


	
	A.
	$142,860.


	
	B.
	$111,584.


	
	C.
	$105,874.


	
	D.
	$100,000.

	
	
	







Explanation: Correct answer: A

	If sales increase 10% then 
	sales=11,000,000

	Fixed costs = 
	(500,000)

	
	

	Variable costs = (.85)(sales) = 
	

	(.85)(11,000,000) = 
	(9,350,000)

	EBIT = 
	1,150,000


 

	% Δ in EBIT =
	1,150,000 - 1,000,000 x 100

	
	1,000,000

	= 
	150,000
	x100 = .15 x 100 = 15%

	
	1,000,000
	


 

	DFL = ΔEPS / % ΔEBIT = 
	17.5
	= 1.16667

	
	15
	


DFL = EBIT / EBIT - I
	1.16667 =
	1,000,000

	
	1,000,000-I 


 

	1,000,000 - I =
	1,000,000

	
	1.16667


 

	1,000,000 -I = 857140 solve for I
	1,000,000 -I = 857140

	
	- 857,140 + -857140 + I

	
	142,860 = I


i: Describe the relationship between financial leverage and financial risk.
	
	Question ID: 25057
An analyst has gathered the following financial data about Lymon Construction:
· Fixed costs of $50,000 
· Variable costs of 70% of sales 
· Tax rate of 35% 
· Expected sales are $400,000 
· 25,000 shares outstanding 
· Lyman could finance 35% of the company by borrowing $300,000 at a rate of 7% 
What are Lymon’s earnings per share (EPS) if the firm has zero debt and if the firm has debt ratio of 30 percent?  The choices below represent D/A=0 and D/A=35% , respectively. 
  


	
	A.
	$1.82, $1.96


	
	B.
	$1.27, $2.80


	
	C.
	$2.80, $3.02


	
	D.
	$3.12, $3.96

	
	
	







Explanation: Correct answer: A

If Debt/Assets = 0
EPS = [($400,000 - $50,000-($400,000 (0.70)-0)(1-0.35) ]/ 25,000 =
[($400,000 - $50,000 - $280,000-0)(.65)]/25,000 = 45,500/25,000 = $1.82
If Debt/Assets = 35%
Number of shares: 25,000 (1-0.35) = 16,250
Interest Expense: $300,000 (0.07) = $21,000
EPS: [($400,000 - $50,000-($400,000 (0.70)-21,000)(1-0.35) ]/ 16,250 =
[($400,000 - $50,000 - $280,000-21,000)(.65)]/16,250 = 31,850/16,250 = $1.96
NOTE: Although EPS went up slightly, Lymon Construction’s financial risk has risen significantly due to the increase in financial leverage. 
	
	Question ID: 25054
As financial leverage increases, what will be the impact on the expected rate of return and financial risk? The choices below represent Expected return and Financial risk, respectively. 


	
	A.
	Falls, Rises


	
	B.
	Rises, Falls


	
	C.
	Rises, Rises


	
	D.
	Falls, Falls

	
	
	







Explanation: Correct answer: C

A higher breakeven point resulting from increased interest costs associated with debt financing increases the risk of the company. Since the risk is tied to firm financing, it is referred to as financial risk. Given the positive risk-return relationship, the expected return of the company’s common stock also rises. 
	
	Question ID: 25056
Additional debt should be used in the firm’s capital structure if it increases:


	
	A.
	earnings per share.


	
	B.
	firm earnings. 


	
	C.
	the value of the firm.


	
	D.
	dividend yield

	
	
	







Explanation: Correct answer: C

The key to finding the optimal capital structure is identifying the level of debt that will maximize firm value. Earnings and earnings per share are not critical in and of themselves when assessing firm value, because they do not consider risk. Dividend yields do not necessarily increase firm value due to the related increase in taxable income, reduced firm liquidity, and other factors.
j: Discuss why the use of greater amounts of debt in the capital strucure can raise both the cost of debt and the cost of equity capital.
	
	Question ID: 25060
The relationship between the debt ratio and beta is:


	
	A.
	zero.


	
	B.
	negative.


	
	C.
	still under empirical review.


	
	D.
	positive.

	
	
	







Explanation: Correct answer: D

It has been shown both theoretically and empirically that a stock’s beta increases as the firm’s debt ratio increases. When the economy is strong, the company has little trouble covering the increased interest expense associated with debt; but as the economy weakens, the risk of bankruptcy rises as interest expense rises. With increased leverage, the volatility of earnings per share (EPS) increases. Since stock price = (EPS)(P/E), increasing leverage increases the volatility of the stock’s price. Hence, a firm’s relative volatility, as measured by beta, goes up.
	
	Question ID: 25059
Maxim Freight, a publicly held transportation company, has doubled its debt ratio from 30 percent to 60 percent. What is the likely change in the cost of debt and cost of equity capital? The choices below represent Cost of Debt and Cost of Equity, respectively.


	
	A.
	Falls, Falls


	
	B.
	Rises, Falls


	
	C.
	Rises, Rises


	
	D.
	Falls, Rises

	
	
	







Explanation: Correct answer: C

This is a significant change in the capital structure. Consequently, it is likely that both the bondholders and shareholders at Maxim Freight are going to be seeking a higher rate of return. With the increased use of debt, the cost of debt increases due to firms with increased leverage having increased risk. This will lead bondholders to seek higher returns. Leverage also increases the variability of earnings per share, thus increasing risk to the stockholder.
	
	Question ID: 25061
Increasing leverage reduces:


	
	A.
	volatility of earnings per share.


	
	B.
	firm risk relative to the market.


	
	C.
	the equity ratio.


	
	D.
	volatility of share price.

	
	
	







Explanation: Correct answer: C

Increasing leverage reduces the percentage of equity financing total assets, or E/TA. There is an increase in the volatility of earnings per share, with at least some of the abnormal performance tied to market conditions. Hence, there is a greater volatility of share price as leverage increases.
k: Describe how changes in the use of debt can cause changes in the company's earnings per share and in the stock price.
	
	Question ID: 25066
Dixon Housing is changing its current all equity capital structure by selling bonds and purchasing stock. In the process, it reduces the weighted average cost of capital (WACC) and:


	
	A.
	earnings rises.


	
	B.
	earnings per share rises.


	
	C.
	share price falls.


	
	D.
	the cost of equity falls.

	
	
	







Explanation: Correct answer: B

By using additional debt in its capital structure, Dixon Housing increases the interest expenses paid by the company thus leading to a fall in earnings. However, due of the decreased number of shares, earnings per share rises. Reducing financing costs will increase Dixon’s share price. 
	
	Question ID: 25063
If a firm is fully financed with equity (i.e., D/TA = 0.0), which of the following will be the last to rise if the firm adds debt to its capital structure?


	
	A.
	Earnings per share.


	
	B.
	The cost of debt.


	
	C.
	Share price.


	
	D.
	The weighted average cost of capital.

	
	
	







Explanation: Correct answer: D

Due to the lower cost of debt financing, adding debt to an all-equity firm is likely to reduce the weighted average cost of capital. Simultaneously, due to the lower costs, earnings will rise. Since earnings are rising as the cost of capital is falling, prices will rise. If the cost of debt were stationary, the weighted average cost of capital would continue to fall until it reaches the cost of debt at 100% debt financing. Before that point, financial risk will result in bondholders increasing their required rate of return. 
	
	Question ID: 25065
What is the optimal capital structure for Smith & Company given the following information?? Assume that the risk-free rate and market return are 5 percent and 9 percent, respectively. 
Debt ratio
Expected earnings per share
Estimated Beta
0%
$2.00
0.95
10%
$2.15
1.00
20%
$2.35
1.10
30%
$2.55
1.35



	
	A.
	20% debt, 80% equity.


	
	B.
	10% debt, 90% equity.


	
	C.
	30% debt, 70% equity.


	
	D.
	0% debt, 100% equity.

	
	
	







Explanation: Correct answer: A

PD/TA = 0%: $2.00/(0.05 + 0.95 (0.09 – 0.05)) = $2.00 / 0.088 = $22.72
PD/TA = 10%: $2.15/(0.05 + 1.00 (0.09 – 0.05)) = $2.15 / 0.090 = $23.89
PD/TA = 20%: $2.35/(0.05 + 1.10 (0.09 – 0.05)) = $2.35 / 0.094 = $25.00
PD/TA = 30%: $2.55/(0.05 + 1.35 (0.09 – 0.05)) = $2.55 / 0.104 = $24.52

Note: As the debt ratio rises, expected earnings per share and risk also rises. When earnings per share rises at a greater rate than risk, stock price rises. When earnings per share rises at a slower rate than risk, stock price falls. The optimal capital structure is the one that maximizes the firm’s stock price and not the one that maximizes the firm’s EPS. 
l: Distinguish between the value of a company and the value of the company's common stock.
	
	Question ID: 25067
The value of the company represents the:


	
	A.
	book value of common stock.


	
	B.
	market value of common stock.


	
	C.
	valuation of the residual claim on the company after all liabilities have been settled.


	
	D.
	sum of debt, preferred stock, and common stock.

	
	
	







Explanation: Correct answer: D

The value of a company is determined by the sum of the debtholder’s stake, the preferred shareholder’s stake, and the value of common equity. A company’s common stock alone represents the valuation of the residual claim on the company. Candidates should be able to differentiate between the value of a company and the value of common stock.
	
	Question ID: 25068
The value of the company represents sum of the value of all of the following EXCEPT:


	
	A.
	debtholder's stake.


	
	B.
	common shareholder's stake.


	
	C.
	book value of fixed assets.


	
	D.
	preferred shareholder's stake.

	
	
	







Explanation: Correct answer: C

Firm assets are financed by its bondholders, preferred shareholders, and common shareholders. The debt holder’s stake in the company is measured by the market value of debt, not the book value.
	
	Question ID: 25069
For a firm issuing bonds, preferred stock, and common stock, which of the following is the largest?


	
	A.
	Company value.


	
	B.
	Bondholder’s stake.


	
	C.
	Common stock value.


	
	D.
	Preferred stock stake.

	
	
	







Explanation: Correct answer: A

As long as the firm is not bankrupt and its capital structure consists of all three forms of capital, the company’s value will exceed the value of any one of the component parts.
m: Explain the effect of taxes and bankruptcy costs on the cost of capital, the optimal capital structure, and the Modigliani and Miller (MM) capital structure irrelevance proposition.
	
	Question ID: 25072
Modigliani and Miller demonstrated that if corporate taxes and bankruptcy costs are introduced into an otherwise perfect world the weighted average cost of capital (WACC) will:


	
	A.
	fall, then bottom out, and finally start to rise.


	
	B.
	not change across the various levels of debt in the capital structure.


	
	C.
	rise, then plateau, and finally start to fall.


	
	D.
	fall continuously as more debt is added to the capital structure. 

	
	
	







Explanation: Correct answer: A

The WACC first falls because bondholders take less risk and, consequently, have a lower required rate of return. In addition, interest expenses are tax deductible. However, as the amount of debt rises, financial risk rises, and the chance for bankruptcy increases. If there are positive bankruptcy costs, both bondholders and stockholders will require increasingly higher rates of return as financial risk increases causing the WACC to rise. This rise offsets the benefits of using the cheaper source of financing.
	
	Question ID: 17377

Which of the following statements is FALSE?


	
	A.
	If the corporate tax rate were increased you would expect to find an increase use of leverage in most firms capital structures.


	
	B.
	If bankruptcy costs were included into the M&M analysis of capital structure in a tax world there would be an optimal capital structure between no debt and all debt.


	
	C.
	The optimal capital structure is the one that minimizes the weighted average cost of capital and consequently maximizes the value of the firm's share price.


	
	D.
	The value of the firm's share price is maximized when the firm maximizes its earnings per share while it minimizes its cost of capital. 

	
	
	







Explanation: Correct answer: D 


	
	Question ID: 25071
Modigliani and Miller demonstrated that if corporate taxes are introduced into an otherwise perfect world, the optimal capital structure would be:


	
	A.
	all debt.


	
	B.
	whatever the firm can finance internally through retained earnings.


	
	C.
	all equity.


	
	D.
	an equal amount of debt and equity.

	
	
	







Explanation: Correct answer: A

In this almost perfect world, the tax deductibility of interest payments encourages firms to use more debt in their capital structures. Since the more the firm borrows the greater the tax write-offs, the firm is encouraged to hold the maximum amount of debt possible. There could essentially be a single equity share, making up a very small portion of the financing, and the remainder, essentially 100 percent, would be financed with debt. 
n: Compare the MM capital structure irrelevance proposition and the trade-off theory of leverage.
	
	Question ID: 25074
The trade-off theory of leverage states that the optimal capital structure is attained at that amount of leverage where the benefits of additional debt are:


	
	A.
	greater than the marginal cost of debt.


	
	B.
	less than the marginal cost of debt.


	
	C.
	equal to the marginal costs of debt.


	
	D.
	zero.

	
	
	







Explanation: Correct answer: C

According to the trade-off theory, at the optimal amount of debt, the tax deductibility arising from using debt supplies enough of a return to compensate investors for the bankruptcy risk they are taking. The debt rate where the marginal benefits of the tax shelter equal the marginal cost of increased bankruptcy risk determines the optimal capital structure. 
	
	Question ID: 25078
Differences in the conclusions arrived at by Modigliani and Miller’s irrelevance proposition and the trade-off theory can be explained by differences in assumptions regarding:


	
	A.
	Federal Reserve action impacts.


	
	B.
	taxes and bankruptcy costs.


	
	C.
	business risk.


	
	D.
	dividend payout ratios.

	
	
	







Explanation: Correct answer: B

Modigliani and Miller’s capital structure irrelevancy proposition assumes away taxes and bankruptcy costs, while the trade-off theory assumes both exist. Capital structure issues are not directly tied to the business itself or its operating leverage. Neither theory says anything about the impact of Federal Reserve Board actions.
	
	Question ID: 25076
According to the trade-off theory of leverage, the optimal capital structure exists where the:


	
	A.
	incremental benefits and costs of debt are equal.


	
	B.
	combined benefits and costs of debt equal zero.


	
	C.
	total benefits and costs of debt are equal.


	
	D.
	brokerage cost of issuing debt equals the cost of issuing stock.

	
	
	







Explanation: Correct answer: A

According to the trade-off theory of capital structure, managers should keep adding debt until the chance of bankruptcy resulting from the next dollar being borrowed equals the tax shelter benefits of issuing debt. Up to that point, the benefits exceed the costs, and the value of the firm expands as debt is added to the capital structure.
o: Describe how a company signals its prospects through its financing choices.
	
	Question ID: 25080
Which statement about the use of capital structure to signal prospects is TRUE?


	
	A.
	Modigliani and Miller assume that managers have better information than investors.


	
	B.
	If a firm willingly issues new shares, it means that the firm's prospects are exceptional.


	
	C.
	The announcement of a stock offering is a signal that the firm's prospects are not good.


	
	D.
	Signaling theory assumes that investors and managers must have the same information regarding a firm's prospects.

	
	
	







Explanation: Correct answer: C

Modigliani and Miller assume that investors and managers have the same, or symmetric, information. If investors and managers have the same insight regarding firm prospects, there is nothing to signal. Using capital structure to send out a signal that is already known wastes firm resources. If the firm has better than anticipated prospects, the firm should not issue additional stock and, thereby, dilute the earnings per share (EPS). A firm that anticipates being successful will want to issue debt in order to increase leverage and maintain or reduce the number of shares outstanding. 
	
	Question ID: 25083
The financial manager of Recycled Products, Inc., knows that the firm is facing relatively good prospects, and that investors do not have this information. Recycled Products needs additional financing to expand operations. Signaling theory would predict that the financial manager would:


	
	A.
	issue equity in order to share the benefits of the increased equity returns between the old and new shareholders.


	
	B.
	issue debt in order to retain the better than anticipated returns for the current shareholders.


	
	C.
	postpone going to the capital markets in order to minimize risk.


	
	D.
	issue a press release to investors using the media to eliminate the information asymmetry.

	
	
	








Explanation: Correct answer: B

A firm that anticipates being successful will want to issue debt in order to increase leverage and maintain or reduce the number of shares outstanding. Postponing the acquisition of capital might dim Recycled Products’ future, while issuing the press release might allow competitors to find out information that would also diminish Recycled Products’ prospects. Issuing stock would allow new shareholders to benefit on par with current shareholders, reducing the value of the future activities to the current shareholders.
	
	Question ID: 17378

Which of the following statements is FALSE?


	
	A.
	Under M&M with no taxes the value of a firm is not influenced by the capital structure of the firm.


	
	B.
	Under M&M with taxes and bankruptcy costs the value of the firm will be maximized when the firm's WACC is minimized.


	
	C.
	Under signaling theory if a firm issues new equity capital to finance expansion it signals that the firm has exceptional investment opportunities.


	
	D.
	Under M&M with taxes the optimal capital structure of a firm would be 100% debt. 

	
	
	







Explanation: Correct answer: C


SECTOR QUIZ:1.F: Capital Structure and Leverage
Setup Text: 

Jayco Inc. sells 10,000 units at a price of $5 per unit. Jayco's fixed costs are $8,000, interest expense is $2,000, variable cost are $3 per unit, and EBIT is $12,000.

	
	Question ID: 17370

What is Jayco's degree of operating leverage?


	
	A.
	1.67.


	
	B.
	1.50.


	
	C.
	1.25.


	
	D.
	1.75. 

	
	
	







Explanation: Correct answer: A 
[10,000(5-3)]/[10,000(5-3)-8,000]

Setup Text: 

Jayco Inc. sells 10,000 units at a price of $5 per unit. Jayco's fixed costs are $8,000, interest expense is $2,000, variable cost are $3 per unit, and EBIT is $12,000.

	
	Question ID: 17370

What is Jayco's degree of financial leverage?


	
	A.
	1.67.


	
	B.
	1.33.


	
	C.
	1.00.


	
	D.
	1.20. 

	
	
	







Explanation: Correct answer: D
12,000/(12,000-2,000)

Setup Text: 

Jayco Inc. sells 10,000 units at a price of $5 per unit. Jayco's fixed costs are $8,000, interest expense is $2,000, variable cost are $3 per unit, and EBIT is $12,000.

	
	Question ID: 17370

What is Jayco's degree of total leverage?


	
	A.
	1.25.


	
	B.
	2.00.


	
	C.
	1.50.


	
	D.
	1.75. 

	
	
	







Explanation: Correct answer: B 
[10,000(5-3)]/[10,000(5-3)-8000-2,000]

	
	Question ID: 17363

Which of the following statements is TRUE?


	
	A.
	Financial leverage is directly related to operating leverage.


	
	B.
	A firm with low operating leverage has a small proportion of its total costs in fixed costs.


	
	C.
	Increase the personal tax rate will not affect capital structure decisions.


	
	D.
	A firm with high business risk is more likely to increase its use of financial leverage than a firm with low business risk. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17376
Lincoln Lodging, Inc., estimates that if its sales increase 10 percent, then its net income will increase 18 percent. The company's earnings before taxes (EBIT) equals $2.4 million, and its interest expense is $400,000. The company's operating costs include fixed and variable costs. What is the level of the company's fixed operating costs?


	
	A.
	$1,200,000.


	
	B.
	$450,000.


	
	C.
	$666,667.


	
	D.
	$2,000,000.

	
	
	







Explanation: Correct answer: A

NI = (S - VC) - F - I
1.1 (S - VC) - F - I = 1.18 (S - VC) - 1.18 (F + I)
.18 (F + I) = .08 (S - VC)
Given EBIT = S - VC - F = 2.4
S - VC = 2.4 + F
	Therefore
	.18 (F + I) = .08 (2.4 + F)

	
	.18F + .18I = .192 + .08F

	
	.1F = .192 - (.18)(.4)

	
	.1F = .192 - .072

	
	.1F = .12

	
	F= 
	.12
	

	
	
	.1
	

	
	F = 1.2 million


	
	Question ID: 17365

Jayco Inc., sells blue ink for $4.00 a bottle. The ink's variable cost per bottle is $2.00. Ink has fixed cost of $10,000. What is Jayco's breakeven point in units?


	
	A.
	5,000.


	
	B.
	7,500.


	
	C.
	2,500.


	
	D.
	6,000. 

	
	
	







Explanation: Correct answer: A
10,000/(4-2)

	
	Question ID: 17358
Which of the following are likely to encourage a firm to increase the amount of debt in its capital structure?


	
	A.
	The personal tax rate increases.


	
	B.
	Ther firm's assets become less liquid.


	
	C.
	The firm's earnings become more volatile.


	
	D.
	The corporate tax rate increases.

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17372
Stromburg Corporation makes surveillance equipment for intelligence organizations. Its sales are $75,000,000. Fixed costs, including research and development, are $40,000,000, while variable costs amount to 30 percent of sales. Stromburg plans an expansion which will generate additional fixed costs of $15,000,000, decrease variable costs to 25 percent of sales, and also permit sales to increase to $100,000,000. What is Stromburg's degree of operating leverage at the new projected sales level?


	
	A.
	4.67.


	
	B.
	4.20.


	
	C.
	3.50.


	
	D.
	3.75.

	
	
	







Explanation: Correct answer: D

Sales = $100,000,000
VC of 25% of sales = 25,000,000
FC of 40,000,000 + 15,000,000 = 55,000,000
	DOL= 


	100,000,000 - 25,000,000

	
	100,000,000 - 25,000,000 - 55,000,000


	DOL= 
	75,000,000
	=3.75

	
	20,000,000
	


	
	Question ID: 17355

The firm's target capital structure is consistent with which of the following?


	
	A.
	Minimum cost of equity (ks).


	
	B.
	Minimum weighted average cost of capital (WACC).


	
	C.
	Minimum risk.


	
	D.
	Maximum earnings per share (EPS). 

	
	
	







Explanation: Correct answer: B


1. G: Dividend Policy
a: Describe the dividend irrelevance theory, the "bird-in-the-hand" theory, and the tax-preference theory.
	
	Question ID: 17381

The bird-in-hand argument is based on the assumption that:


	
	A.
	capital gains are taxed at a higher rate than dividends.


	
	B.
	investors view dividends as being less risky than expected capital gains.


	
	C.
	investors are indifferent between dividends and capital gains.


	
	D.
	investors value expected capital gains more highly than expected dividends because of the lower tax rate on capital gains. 

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17379

Which of the following statements is FALSE?


	
	A.
	The bird-in-hand theory would predict that a company could decrease its cost of equity by increasing its dividend payout.


	
	B.
	The current tax code encourages firms to payout high dividends to their shareholders. 


	
	C.
	A decrease in a firm's willingness to pay dividends is likely to result from an increase in profitable investment opportunities. 


	
	D.
	Share repurchases are generally viewed as a positive signal by investors. 

	
	
	







Explanation: Correct answer: B
The current tax code encourages the retention of earnings.

	
	Question ID: 17383
Which of the following statements is CORRECT?


	
	A.
	An increase in interest expense will reduce the company's degree of financial leverage.


	
	B.
	An increase in fixed costs (holding sales and variable costs constant) will reduce the company's degree of operating leverage.


	
	C.
	If the company has no debt outstanding, then its degree of total leverage equals its degree of operating leverage.


	
	D.
	A decrease in interest expense will increase the company's degree of total leverage.

	
	
	







Explanation: Correct answer: C

If debt = 0 then DFL = 1 because DFL = EBIT/EBIT - I
If debt = 0 then I = 0 and DFL = EBIT/EBIT - 0 = EBIT/EBIT = 1
DTL = (DOL)(DFL)
If DFL = 1 then DTL = (DOL)(1) which complies to DTL = DOL
b: Explain Modigliani and Miller's (MM) dividend irrelevance theory in the context of the determinants of the value of the company.
	
	Question ID: 24286
If Modigliani and Miller’s dividend irrelevancy theory is correct, what is the impact on a firm’s cost of capital and dividend policy if its dividend payout increases?  The choices below represent Cost of Capital and Share Price, respectively. 


	
	A.
	remains constant, remains constant


	
	B.
	decreases, decreases


	
	C.
	increases, increases


	
	D.
	increases, decreases

	
	
	







Explanation: Correct answer: A

If investors do not consider dividends to be relevant, the dividend payout will not affect the required rate of return. If the required rate of return does not change, the value of a firm will remain constant despite the change in its dividend payout rate.
	
	Question ID: 24288
Modigiliani and Miller argue that a firm’s value is determined by each of the following EXCEPT:


	
	A.
	the costs incurred by the firm.


	
	B.
	how earnings are split between dividends and retained earnings.


	
	C.
	the business risk of the firm.


	
	D.
	the revenues produced by the firm's assets.

	
	
	







Explanation: Correct answer: B

According to Modigliani and Miller’s dividend irrelevancy theory, a firm’s dividend policy has no effect on either its value or cost of capital. Instead, a firm’s value is dependent upon its basic earnings power (revenues less costs) and business risk.
	
	Question ID: 24283
An analyst gathered the following information about two similar companies:
· Company A: Dividend Payout Ratio = 30% 

· Company B:  Dividend Payout Ratio = 5% 

If Modigliani and Miller’s dividend irrelevancy theory is correct, how would Company A differ from Company B in terms of required return and share price, assuming that the two firms differ only with respect to dividend policy?  The choices below represent Required Return and Share Price, respectively. 





	
	A.
	lower, higher


	
	B.
	lower, lower


	
	C.
	higher, lower


	
	D.
	equal, equal

	
	
	







Explanation: Correct answer: D

If Modigliani and Miller are correct, investors do not adjust their required return on the basis of dividend payments. If the firms were exactly the same in every other aspect, they would be valued equally, regardless of their dividend payout policy.
c: Discuss the principal conclusion for dividend policy of MM's dividend irrelevance theory.
	
	Question ID: 24289
According to Modigliani and Miller’s theory regarding dividends: 


	
	A.
	dividend payout ratios, and dividend yields are irrelevant.


	
	B.
	companies with lower dividend payout ratios are preferable.


	
	C.
	companies with higher dividend payout ratios are preferable.


	
	D.
	companies with higher dividend yields are preferable.

	
	
	







Explanation: Correct answer: A

According to Modigliani and Miller’s theory, in a perfect world (no taxes, no brokerage costs, and infinitely divisible shares), the value of the firm is unaffected by the distribution of dividends. Dividend payout ratios and dividend yields are irrelevant because an investor could create his own ¡°homemade dividend¡± by either buying or selling company shares in order to receive the desired payout.
	
	Question ID: 24291
Per Modigliani and Miller’s theory, investors in aggregate:


	
	A.
	prefer a lower dividend yield.


	
	B.
	are indifferent between given levels of dividend payouts.


	
	C.
	prefer a higher dividend yield.


	
	D.
	prefer a high dividend payout ratio.

	
	
	







Explanation: Correct answer: B

If dividends are irrelevant, as proposed by Modigliani and Miller, we cannot say that investors, as a group, have a greater comfort level with one level of dividends as opposed to another dividend payout level. 
	
	Question ID: 24290
Modigliani and Miller’s dividend irrelevancy theory assumes:


	
	A.
	transaction costs are known.


	
	B.
	there are no stock splits.


	
	C.
	tax rates are known.


	
	D.
	there are no taxes or transaction costs.

	
	
	







Explanation: Correct answer: D

A key to Modigliani and Miller’s dividend irrelevancy theory is the absence of both taxes and transaction costs. With this assumption, investors could create their own dividend policy, regardless of the firm’s payout. For instance, if the firm is paying more than an investor desired, the investor could use the proceeds to buy additional shares of stock. If the firm is paying less than desired, an investor could sell some of the shares to increase her cash flow from her investment. 
d: Describe how any shareholder can construct his or her own dividend policy.
	
	Question ID: 24294
According to Modigliani and Miller’s dividend irrelevancy theory, an investor in a firm that pays an above average dividend yield can effectively eliminate that dividend by:


	
	A.
	selling a portion of the company’s stock equal to the value of the dividends received.


	
	B.
	buying additional shares with the dividends.


	
	C.
	not reporting the dividend on their tax returns.


	
	D.
	contacting the firm and asking it to retain your dividend cash flows.

	
	
	







Explanation: Correct answer: B

Miller and Modigliani’s dividend irrelevancy theory states that shareholders can in theory construct their own dividend policy. If a firm pays a dividend, , the shareholder can purchase additional shares with that money. Note that Modigliani and Miller’s theory does not account for transaction costs or taxes. Shareholders will still have to pay taxes on the dividends received and a brokerage charge on the share repurchase.
	
	Question ID: 24293
According to Modigliani and Miller’s dividend irrelevancy theory, an investor in a firm that does not pay a dividend can still earn a ¡°dividend¡± on that company by:


	
	A.
	contacting the firm and asking for a dividend payment.


	
	B.
	selling a portion of the company's stock each year.


	
	C.
	including retained earnings as dividends for tax purposes.


	
	D.
	buying additional shares each year.

	
	
	







Explanation: Correct answer: B

Miller and Modigliani’s dividend irrelevancy theory states that shareholders can in theory construct their own dividend policy. If a firm does not pay dividends, a shareholder who wants a 4 percent dividend can ¡°create¡± it by selling 4 percent of his or her stock. Note that Modigliani and Miller’s theory does not account for transaction costs or taxes. Shareholders will have to pay a brokerage commission and tax on any capital gains.
	
	Question ID: 24295
In a world with taxes and brokerage costs:


	
	A.
	Modigliani and Miller say that investors prefer high dividend yields.


	
	B.
	dividend policy may be relevant.


	
	C.
	Modigliani and Miller say that dividend policy is relevant.


	
	D.
	Modigliani and Miller say that dividend policy is irrelevant.

	
	
	







Explanation: Correct answer: B
Modigliani and Miller assume a world without taxes and transaction costs. They (correctly) claim that the validity of their theory should be judged on empirical tests, not the realism of their assumptions. Myron Gordon and John Lintner have championed the ¡°bird-in-the-hand¡± theory, which gives greater value to firms with high dividend yields because investors perceive dividends to be less risky than capital gains.
e: Calculate, assuming a constant return on equity, a company's dividend growth rate, given the company's dividend payout rate.
	
	Question ID: 24297
Global Industrial has a target dividend growth rate of 7 percent per year and a return on equity of 21 percent. What percent of earnings have to be retained in order to provide the target dividend growth rate?


	
	A.
	300%.


	
	B.
	33%.


	
	C.
	66%.


	
	D.
	7%.

	
	
	







Explanation: Correct answer: B

G = (Retention rate) (ROE)

0.07 = Retention rate(0.21)

0.07/0.21 = Retention Rate = 0.33
	
	Question ID: 24296
General Industrial retains 20 percent of profits and earns a 20 percent return on equity, what is its dividend growth rate?


	
	A.
	4%.


	
	B.
	16%.


	
	C.
	2%.


	
	D.
	0%.

	
	
	







Explanation: Correct answer: A

G = (Retention rate) (ROE) = 0.2(0.2) = 0.04
	
	Question ID: 24299
Worldwide Manufacturing’s dividend payout ratio is 40 percent, and its return on equity is 15 percent. What is its dividend growth rate?


	
	A.
	9.0%.


	
	B.
	6.0%.


	
	C.
	2.7%


	
	D.
	4.0%.

	
	
	







Explanation: Correct answer: A

G = (Retention rate) (ROE) 

G = (1-0.4) (0.15) = (0.6)(0.15) = 0.09, or 9 percent 
f: Describe how managers signal their company's earnings forecast through changes in dividend policy.
	
	Question ID: 24304
A firm that is anticipating better than expected future earnings can signal this to shareholders by:


	
	A.
	increasing the earnings retention ratio.


	
	B.
	increasing the dividend payout ratio .


	
	C.
	paying extra bonuses to managers.


	
	D.
	decreasing the dividend payout ratio.

	
	
	







Explanation: Correct answer: B

Modigliani and Miller note that it is a well-established fact that corporations do not raise dividends unless they expect higher earnings in the future. Thus, a dividend increase is a signal to investors that the firm’s managers are anticipating good future conditions. Decreasing the dividend payout ratio results in an increase in the earnings retention ratio, both of which would be considered to be a negative signal by Modigliani and Miller. Paying extra bonuses would be viewed as increasing costs and not necessarily result in the expectation that future net income will be greater than currently forecast.
	
	Question ID: 24303
A key aspect of the signaling hypothesis is the:


	
	A.
	absence of taxes.


	
	B.
	reluctance of corporations to cut dividends.


	
	C.
	absence of transaction costs.


	
	D.
	existence of different clienteles.

	
	
	







Explanation: Correct answer: B

Modigliani and Miller note that it is a well-established fact that corporations do not raise dividends unless they expect higher earnings in the future. Thus, a higher-than-expected dividend increase is a signal to investors that the firm’s managers are anticipating good future conditions.
	
	Question ID: 24302
The theory that investors regard dividend changes as signals of management’s earnings forecasts is known as the:


	
	A.
	dividend irrelevancy hypothesis.


	
	B.
	bird-in-the-hand hypothesis.


	
	C.
	signaling hypothesis.


	
	D.
	clientele effect.

	
	
	







Explanation: Correct answer: C

Modigliani and Miller argue that investors’ reactions to changes in dividend policy do not necessarily show that investors prefer dividends to retained earnings. A smaller-than-expected dividend increase, for instance, may be a signal that management is forecasting poor earnings in the future. Modigliani and Miller argue that price changes following dividend actions simply indicate that there is important information in dividend announcements.
g: Describe the clientele effect.
	
	Question ID: 24386
The tendency of a firm to attract a set of investors who like its dividend policy is known as the:


	
	A.
	clientele effect.


	
	B.
	dividend irrelevancy effect.


	
	C.
	bird-in-the-hand effect.


	
	D.
	information signally effect.

	
	
	







Explanation: Correct answer: A

The clientele effect states that high tax bracket investors prefer low dividend payouts and low tax bracket investors prefer high dividend payouts. If a firm retains and reinvests income rather than paying out dividends, those shareholders who need current income would be disadvantaged. They would have to sell shares, and incur a brokerage cost, in order to generate a cash flow. Hence, those seeking current income, especially if they are in a low or zero tax bracket, will avoid zero-dividend paying shares.
	
	Question ID: 17386

Which of the following statements about dividends is TRUE?


	
	A.
	The clientele effect suggests that firms should follow a stable dividend policy.


	
	B.
	Dividend irrelevance means that investors prefer dividends to capital gains.


	
	C.
	The bird-in-hand theory implies that firms can reduce their cost of equity capital by reducing their dividend payout ratios.


	
	D.
	The tax preference theory suggests that a firm can increase its stock price by increasing its dividend payout ratio. 

	
	
	







Explanation: Correct answer: A

	
	Question ID: 24388
Firms engaged in frequent switching of dividend payouts (i.e., from low to high and back again) would most likely witness a decrease in share demand by:


	
	A.
	low income investors having to sell shares when dividends fall.


	
	B.
	all types of investors.


	
	C.
	high income investors having to buy shares when dividends rise.


	
	D.
	middle income investors who need additional income.

	
	
	







Explanation: Correct answer: B

The key phrase is ¡°frequent switching,¡± resulting in some time periods when dividend payments are low (adversely affecting low-tax investors) and when dividend payments are high (adversely affecting high-tax investors). Middle-income individuals will not know whether the next period’s dividend will be abnormally high or low and are also likely to avoid these shares.
h: Describe the residual dividend model and discuss the model's possible advantages or disadvantages to the company.
	
	Question ID: 17389

A firm follows a residual dividend policy. The firm's current capital structure is 1/4 debt and 3/4 equity. The firm wants to maintain its capital structure in the future. The firm has $3 million in earnings and has a capital expansion program that will need $3.6 million. What will the firm's dividend be this year?


	
	A.
	0.


	
	B.
	$900,000.


	
	C.
	$600,000.


	
	D.
	$300,000. 

	
	
	







Explanation: Correct answer: D
You want to maintain the same capital structure so (.25)(3.6) will be debt and (.75)(3.6) will be equity. 

So the equity needs are (.75)(3.6) = 2.7 Residual dividend equals 3 - 2.7 = .3 or 300,000 

	
	Question ID: 17399
Stargell Industries follows a strict residual dividend policy. The company has a capital budget of $3,000,000. It has a target capital structure that consists of 30 percent debt and 70 percent equity. The company forecasts that its net income will be $3,500,000. What will be the company's expected dividend payout ratio this year?


	
	A.
	25%.


	
	B.
	40%.


	
	C.
	30%.


	
	D.
	35%.

	
	
	







Explanation: Correct answer: B

(3,000,000)(.70) = $2,100,000 of capital budget will come from equity.
3,500,000 - 2,100,000 = 1,400,000 left over for dividends.
	1,400,000
	= 0.4 or 40 % paid out in dividends

	3,500,000
	


	
	Question ID: 17395
An analyst gathered the following information about a company's investment budget:
· Expected net income of $800,000 during the next year 

· Target and current capital structure is 40 percent debt and 60 percent common equity 

· Optimal capital budget for next year is $1.2 million 

If the company uses the residual dividend model to determine next year's dividend payout, how much will the company payout?


	
	A.
	$800,000.


	
	B.
	$80,000.


	
	C.
	$720,000.


	
	D.
	$260,000. 

	
	
	







Explanation: Correct answer: B 
60% of 1,200,000 is 720,000, income 800,000-720,000 is 80,000

	
	Question ID: 17391

Under the residual dividend, model firms would do all of the following EXCEPT:


	
	A.
	determine the amount of equity needed to meet the capital budget.


	
	B.
	pay dividends only if more earnings are available than needed to support the optimal capital budget.


	
	C.
	determine their optimal capital budgets.


	
	D.
	borrow money to maintain the dividend payout schedule. 

	
	
	







Explanation: Correct answer: D


i: Describe dividend payment procedures, including the declaration, holder-of-record, ex dividend, and payment dates.
	
	Question ID: 24392
Which of the following shows the key dividend dates in their proper sequence?


	
	A.
	Ex-dividend date, declaration date, holder-of-record date, payment date.


	
	B.
	Declaration date, ex-dividend date, holder-of-record date, payment date.


	
	C.
	Ex-dividend date, holder-of-record date, declaration date, payment date.


	
	D.
	Declaration date, holder-of-record date, ex-dividend date, payment date.

	
	
	







Explanation: Correct answer: B

The board of directors announce the amount of the dividend, the holder-of-record date, and payment date. The ex-dividend date is two business days prior to the holder-of-record date, giving the firm time to identify the rightful owner of the dividends.
	
	Question ID: 24390
Shareholders selling shares between the ex-dividend date and date of record:


	
	A.
	forfeit the dividend, with the proceeds going to the buyer.


	
	B.
	receive the dividend.


	
	C.
	forfeit the dividend, with the proceeds staying with the company.


	
	D.
	share the dividend with the buyer.

	
	
	







Explanation: Correct answer: B

The date of record is the date on which the shareholders of record are designated to receive the dividend. The ex-dividend date is the cut-off date for receiving the dividend. Shares sold after the ex-dividend date are sold without claim to the dividend, even if they are sold prior to the date of record. The dividend would be paid to the holder as of the close of trading on the day prior to the ex-dividend date.
	
	Question ID: 24394
What is the earliest day on which an investor can currently purchase Amex Inc., if the investor wants to avoid receiving a dividend and thereby avoid paying tax on the distribution, if the date of record is Thursday, October 31?


	
	A.
	Thursday, October 24.


	
	B.
	Thursday, October 31.


	
	C.
	Tuesday, October 29.


	
	D.
	Monday, October 28.

	
	
	







Explanation: Correct answer: C

The ex-dividend date is now two business days prior to the date of record. Counting back two business days identifies Tuesday, October 29 as the date when the shares can be purchased without the dividend.
j: Describe stock dividends and stock splits and explain their likely pricing effects.
	
	Question ID: 24396
Stock splits:


	
	A.
	decrease firm value.


	
	B.
	increase firm value.


	
	C.
	are less common than stock dividends.


	
	D.
	do not in and of themselves affect firm value.

	
	
	







Explanation: Correct answer: D

Stock splits divide up each existing share into multiple shares. The price of each share will drop correspondingly to the number of shares created, so there is no change in the owner’s wealth. Empirical research has shown that in the absence of a dividend yield increase, the stock price falls to the stock split ratio of the original price (i.e., to 25 percent of the original price in a 4-for-1 stock split). This makes sense, given that the investor’s percentage ownership of the company has not changed. 
	
	Question ID: 24395
A periodic payment to shareholders in the form of additional shares of stock instead of cash is a: 


	
	A.
	stock split


	
	B.
	dividend reinvestment plan


	
	C.
	stock dividend


	
	D.
	stock repurchase

	
	
	







Explanation: Correct answer: C

Stock dividends are dividends paid out in new shares of stock instead of cash. Unlike stock dividends, dividend reinvestment plans are at the discretion of individual shareholders. In the case of stock repurchases, the company is buying back shares so the number of shares in the investment public’s hands is declining. Stock splits are generally used after sharp price run-ups in order to keep stock prices in a perceived optimal trading range. 
	
	Question ID: 24397
Financial managers utilize stock splits and stock dividends because they perceive that:


	
	A.
	brokerage fees paid by shareholders will be reduced.


	
	B.
	an optimal trading range exists.


	
	C.
	investors will double the share price if there is a 2-for-1 stock split.


	
	D.
	investors will double the share price if there is a 20% stock dividend.

	
	
	







Explanation: Correct answer: B

Although there is little empirical evidence to support the contention, there is nevertheless a widespread belief in financial circles that an optimal price range exists for stocks. ¡°Optimal¡± means that if the price is within this range, the price/earnings ratio, price/sales and other relevant ratios will be maximized. Hence, the value of the firm will be maximized.
k: Discuss the advantages and disadvantages of stock repurchases and calculate the price effect of stock repurchase.
	
	Question ID: 24402
Global Development expects to earn $5.5 million next year. Forty percent of this amount, or $2.2 million, has been allocated for distribution to common shareholders. There are 2.2 million shares outstanding and the market price is $30 a share. Global believes that it can either use the $2.2 million to repurchase shares at a price of $31 per share or else pay a cash dividend of $1.00 per share. What is the market price of the remaining shares?


	
	A.
	$29.00.


	
	B.
	$12.40.


	
	C.
	$30.00.


	
	D.
	$31.00.

	
	
	







Explanation: Correct answer: D

Current EPS: Total earnings / # of shares = $5.5 million/2.2 million shares = $2.50 Shares repurchased: Dollars allocated/ Price = $2.2 million/$31 = 70,968 shares EPS after repurchasing 70,968 shares: $5,500,000/2,129,032 = $2.5833 Price/Earnings Ratio: Share Price/Current EPS: $30 /($2.5) = 12 Expected Market Price = (EPS1)(P/E) = 2.5833(12) = $31 Shareholders end up with a $31 net whether they sell their shares or retain them. 
	
	Question ID: 24401
A firm with variable cash flows that is not seeking to signal abnormally good or poor performance in the future, will find it useful to use a share repurchase program in conjunction with a:


	
	A.
	residual dividend model.


	
	B.
	constant dividend model.


	
	C.
	growing dividend model.


	
	D.
	stock split program.

	
	
	







Explanation: Correct answer: A

The residual dividend model allows firms to payout dividends only if more earnings are available than are needed to support the optimal capital budget. Because dividends payouts can be unstable, a firm can supplement a low, stable dividend with a share repurchase program. Stock repurchases allow management to distribute cash without signaling information about future earnings. Abnormally good years could be followed with the purchase of shares, while selling shares would provide liquidity during temporary cash shortages.
	
	Question ID: 24398
All of the following are reasons for a stock repurchase EXCEPT:


	
	A.
	investors see repurchases as a signal that shares are overvalued.


	
	B.
	the corporation may purchase its shares at a bargain.


	
	C.
	repurchases can be used to decrease supply of the stock, thus increasing the share price.


	
	D.
	repurchases can be used to produce significant changes in capital structure.

	
	
	







Explanation: Correct answer: A

Repurchases are viewed as a signal by the company that shares are undervalued - worth more than their going price. Shareholders who do not believe the shares are worth more can sell them, while more-supportive shareholders can retain share ownership. A company can also use share repurchases to alter their capital structure by changing the mix of debt and equity.
SECTOR QUIZ:1.G: Dividend Policy
	
	Question ID: 17382

Gordon and Lintner's bird-in-hand dividend theory is based on the idea that:


	
	A.
	ks = D1/P0 + g is constant for any dividend policy.


	
	B.
	investors prefer to reinvest dividends rather than receive and spend them.


	
	C.
	because of perceived differences in risk, investors value a dollar of dividends more highly than a dollar of expected capital gains.


	
	D.
	a decrease in current dividends signals that future earnings will fall. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17392

Which of the following statements is TRUE?


	
	A.
	If a firm follows a residual dividend policy, then a sudden increase in the number of profitable projects is likely to reduce the firm's dividend payout.


	
	B.
	The signaling hypothesis is based on the concept that investors prefer current dividends over capital gains.


	
	C.
	A residual dividend policy is an effective way to stabilize dividend payout.


	
	D.
	If Congress lowers the capital gains rate, companies would be motivated to increase their dividend payout ratios. 

	
	
	







Explanation: Correct answer: A


	
	Question ID: 17400
Which of the following would NOT have an influence on the optimal dividend policy?


	
	A.
	A strong shareholders' preference for current income versus capital gains.


	
	B.
	All of these statements can have an effect on dividend policy.


	
	C.
	The costs associated with selling new common stock.


	
	D.
	The possibility of accelerating or delaying investment projects.

	
	
	







Explanation: Correct answer: B


	
	Question ID: 17387
Which of the following statements is most correct?


	
	A.
	If a company has established a clientele of investors who prefer large dividends, the company is unlikely to adopt a residual dividend policy.


	
	B.
	The tax code encourages companies to pay large dividends to their shareholders.


	
	C.
	When dividends are cut, this signals to investors that investment opportunities have increased.


	
	D.
	If a firm follows a residual dividend policy, holding all else constant, its dividend payout will tend to rise whenever the firm's investment opportunities improve.

	
	
	







Explanation: Correct answer: A


	
	Question ID: 17398
Which of the following statements is most correct?


	
	A.
	Despite its drawbacks, a residual dividend policy is an effective way to stabalize dividend payouts, which makes it easier for firms to attract a clientele that prefers high dividends.


	
	B.
	Empirical evidence indicates the bird-in-the-hand theory as being the most accurate description between dividend policy and the cost of equity.


	
	C.
	If the U.S. congress cuts the capital gains rate but leaves the personal tax rate unchanged, then this would provide an incentive for companies to increase their dividend payouts.


	
	D.
	If a firm follows a residual dividend policy, then a sudden increase in the number of profitable projects is likely to reduce the firm's dividend payout.

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17388
The argument that stocks attract particular groups based on dividend yield is called the:


	
	A.
	dividend irrelevance proposition.


	
	B.
	dividend signaling effect.


	
	C.
	information content effect.


	
	D.
	clientele effect.

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17384

Which of the following statements is FALSE?


	
	A.
	If a firm follows a residual dividend policy its dividend payout will tend to rise whenever the firm's investment opportunities improve.


	
	B.
	Current tax law encourages companies to pay large dividends to their shareholders.


	
	C.
	If a company has an established clientele who prefer large dividends the company is unlikely to adopt a residual dividend policy.


	
	D.
	Academic research strongly supports the dividend irrelevance theory. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17394
An analyst gathered the following information about a company's investment plan:
· Capital budget of $5,000 

· Target capital structure is 70 percent debt and 30 percent equity 

· Net income is $4,500 

If the company follows a residual dividend policy, what portion of its net income should it pay out as dividends this year?


	
	A.
	50%.


	
	B.
	40%.


	
	C.
	67%.


	
	D.
	60%. 

	
	
	







Explanation: Correct answer: C
30% of 5,000 or 1,500 is equity, income left over 4,500-1,500 is 3,000, as a % is 3,000/4,500 = 67%

2.: Discounted Cash Flow Applications
a: Calculate the net present value and internal rate of return of a capital investment project.
	
	Question ID: 19423
An investment with a cost of $5,000 is expected to have cash inflows of $3,000 in year 1, and $4,000 in year 2. The internal rate of return (IRR) for this investment is closest to:


	
	A.
	15%.


	
	B.
	10%.


	
	C.
	30%.


	
	D.
	25%.

	
	
	







Explanation: Correct answer: D

The IRR is the discount rate that makes the net present value of the investment equal to 0.
This means -$5,000 + $3,000/(1+IRR) + $4,000/(1+IRR)2 = 0
The easiest way to compute this problem is to use trial and error with the existing answer choices.
-$5,000 + $3,000/(1.245) + $4,000/(1.245)2 = 0; IRR = 24.5%, or IRR is closest to 25%.
	
	Question ID: 19422
The estimated annual after-tax cash flows of a proposed investment are shown below:
Year 1: $10,000
Year 2: $15,000
Year 3: $18,000
After-tax cash flow from sale of investment in year 3: $120,000
The initial cost of the investment is $100,000, and the required rate of return is 12 percent. The net present value (NPV) of the project is:


	
	A.
	($66,301).


	
	B.
	$57,952.


	
	C.
	$19,113.


	
	D.
	$63,000.

	
	
	







Explanation: Correct answer: C

10,000/1.12 = 8,929
15,000/(1.12)2 = 11,958
138,000/(1.12)3 = 98,226
NPV = 8,929 + 11,958 + 98,226-100,000 = $19,113
	
	Question ID: 25039
Fisher, Inc., is evaluating the benefits of investing in a new industrial printer. The printer will cost $28,000 and increase net sales by $8,000 during each of the next five years. What is the internal rate of return (IRR) and net present value (NPV) of the printer project if Fisher’s required rate of return is 11 percent?


	
	A.
	IRR = 17.97%, NPV = $5,844.


	
	B.
	IRR = 5.56%, NPV = -$3,180.


	
	C.
	IRR = 13.20%, NPV = $1,567.


	
	D.
	IRR = 11.00%, NPV = $12,000.

	
	
	







Explanation: Correct answer: C

IRR Keystrokes:  CF0 = -$28,000, CF1 = $8,000, F1 = 5; Compute IRR.
NPV Keystrokes:  CF0 = -$28,000, CF1 = $8,000, F1 = 5; I = 11; Compute NPV.
	
	Question ID: 25042
The financial manager at Genesis Company is looking into the purchase of an apartment complex for $550,000. Net revenues are expected to be $65,000 for each of the next five years, then drop to $50,000 for four years. Genesis’ required rate of return is 9 percent on projects of this nature. After nine years, Genesis Company expects to sell the property for $300,000. What is the internal rate of return (IRR) and net present value (NPV) on this project?


	
	A.
	IRR = 6.66%, NPV = -$64,170.


	
	B.
	IRR = 8.09%, NPV = -$21,535.


	
	C.
	IRR = 7.01%, NPV = -$53,765.


	
	D.
	IRR = 13.99%, NPV = $166,177.

	
	
	







Explanation: Correct answer: C

IRR Keystrokes: 

CF0 = -$650,000, CF1 = $65,000, F1 = 5, CF2 = $50,000, F2 = 3; CF3 = $350,000, F3 = 1.
NPV Keystrokes: 
CF0 = -$650,000, CF1 = $65,000, F1 = 5, CF2 = $50,000, F2 = 3; CF3 = $350,000, F3 = 1.
Compute NPV, I = 9.
Note:Although the rate of return is positive, the IRR is less than the required rate of 9%.Hence, it is not surprising that the NPV is negative.
b: Explain the decision rule for making investment decisions under the net present value and internal rate of return methods.
	
	Question ID: 25046
The financial manager at Johnson & Smith estimates that its required rate of return is 11 percent. Which of the following independent projects should Johnson & Smith accept?


	
	A.
	Project B requires an up-front expenditure of $800,000 and generates a positive IRR of 10.5%.


	
	B.
	Project C requires an up-front expenditure of $600,000 and generates a positive internal rate of return of 12.0%.


	
	C.
	Project D requires an up-front expenditure of $100,000 and generates a negative IRR of 3.2%.


	
	D.
	Project A requires an up-front expenditure of $1,000,000 and generates an NPV of -$4,600.

	
	
	







Explanation: Correct answer: B

When projects are independent, you can use either the NPV method or IRR method to identify the best project. Only Project C has an IRR in excess of 11%. Acceptance of Project A reduces the firm’s value by $4,600.
	
	Question ID: 25044
Which of the following is NOT a net present value (NPV) decision rule?


	
	A.
	When choosing among mutually exclusive projects, select the one with the highest NPV.


	
	B.
	If an independent investment's NPV is negative, reject the project. 


	
	C.
	When choosing among independent projects, select the one with the highest rate of return.


	
	D.
	If an independent investment's NPV is positive, accept the project.

	
	
	







Explanation: Correct answer: C

NPV focuses on dollar amounts, seeking the highest dollar amount possible. The underlying assumption is that positive NPVs add to the value of the firm and, hence, to shareholder wealth. So, the higher the dollar amount the better. The internal rate of return decision rules focus on rates of return. The highest rate of return does not necessarily mean that the dollar value of the firm will be maximized. Also, the internal rate of return must be higher than the required rate of return. If no project’s return exceeds the hurdle rate, no projects should be accepted.
	
	Question ID: 19424
Which of the following statements regarding making investment decisions using net present value (NPV) and internal rate of return (IRR) is FALSE?


	
	A.
	A firm should accept projects where the IRR is greater than the cost of capital.


	
	B.
	If a firm undertakes a zero-NPV project, the firm will get larger, but shareholder wealth will not change.


	
	C.
	If two projects are mutually exclusive, always choose the project with the highest IRR.


	
	D.
	Projects with a positive NPV increase shareholder wealth.

	
	
	







Explanation: Correct answer: C

If two projects are mutually exclusive, the firm should always choose the project with the highest NPV rather than the highest IRR. If two projects are mutually exclusive, the firm may only choose one. It is possible for NPV and IRR to give conflicting decisions for projects of different sizes. Because NPV is a direct measure of the change in shareholder wealth, NPV criteria should be used when NPV and IRR decisions conflict.
When a project has a positive NPV, it will add to shareholder wealth because the project is earning more than the opportunity cost of capital needed to undertake the project. If a firm takes on a zero-NPV project, the firm will earn exactly enough to cover the opportunity cost of capital. The firm will increase in size by taking the project, but shareholder wealth will not change.
If the IRR is more than the cost of capital, the firm will want to take on the project because the firm is earning more than the opportunity cost of capital needed to undertake the project.
	
	Question ID: 19425
Jack Smith, CFA, is analyzing independent investment projects X and Y. Smith has calculated the net present value (NPV) and internal rate of return (IRR) for each project:
Project X: NPV = $250; IRR = 15%
Project Y: NPV = $5,000; IRR = 8% 
Smith should make which of the following recommendations concerning the two projects:


	
	A.
	Project X
Project Y
Reject
Reject



	
	B.
	Project X
Project Y
Accept
Reject



	
	C.
	Project X
Project Y
Reject
Accept



	
	D.
	Project X
Project Y
Accept
Accept


	
	
	







Explanation: Correct answer: D

The projects are independent, meaning it does not matter if one or both projects are chosen. Both projects have a positive NPV, therefore both projects add to shareholder wealth and both projects should be accepted.
c: Discuss problems associated with the internal rate of return method.
	
	Question ID: 19426
Sarah Kelley, CFA, is analyzing mutually exclusive investment projects 1 and 2. Kelley has calculated the net present value (NPV) and internal rate of return (IRR) for each project:
Project 1: NPV = $230; IRR = 15%
Project 2: NPV = $4,000; IRR = 6% 
Kelley should make which of the following recommendations concerning the two projects:


	
	A.
	Project 1
Project 2
Accept
Reject



	
	B.
	Project 1
Project 2
Accept
Accept



	
	C.
	Project 1
Project 2
Reject
Reject



	
	D.
	Project 1
Project 2
Reject
Accept


	
	
	







Explanation: Correct answer: D

Because the investment projects are mutually exclusive, only one project can be chosen. The NPV and IRR criteria are giving conflicting decisions. When decision criteria conflict, always use the NPV criteria because NPV is a direct measure of the change in shareholder wealth as a result of the project.
	
	Question ID: 25051
The financial manager at Kyser Jones is considering two mutually exclusive projects with the following projected cash flows:
 
Projected Cash Flows
Year
Project M
Project Z
0
-$60,000
-$60,000
1
22,500
0
2
22,500
0
3
22,500
0
4
22,500
111,000
 
If Kyser Jones’ required rate of return is 11 percent, which project would be chosen and why?


	
	A.
	Both projects because their net present values are positive.


	
	B.
	Project Z, because it has the higher net present value.


	
	C.
	Both projects because they have internal rates of return in excess of 11%.


	
	D.
	Project M, because it has the higher internal rate of return.

	
	
	







Explanation: Correct answer: B

Since the projects are mutually exclusive, one of the projects must be rejected.  Between the two remaining choices, the issue is one of which has the higher NPV.  Based on the calculations below we would select Project Z, with a NPV that is $3,314 greater.  Due to the assumption of reinvestment of intermediate cash flows at the IRR and not the required rate of return, Project M has a higher IRR.  This example illustrates the conflict that can exist between IRR and NPV for mutually exclusive projects.  On the exam, always use NPV when the two methods conflict!
 
	Cash Flow Input Values

	 
	Project M
	Project Z

	CF0
	-60,000
	-60,000

	CF1
	22,500
	0

	F1
	4
	3

	CF2
	-
	111,000

	F2
	-
	1


 
	Output Values

	
	Project M
	Project Z

	NPV
	$9,805
	$13,119

	IRR
	18.45%
	16.62%


 
	
	Question ID: 19427
Which of the following is NOT a problem associated with the internal rate of return (IRR) method for making investment decisions:


	
	A.
	The IRR method assumes cash flows are reinvested at the investment’s internal rate of return.


	
	B.
	IRR and NPV criteria can give conflicting decisions for mutually exclusive projects


	
	C.
	An investment project may have more than one internal rate of return.


	
	D.
	The IRR method determines the discount rate that sets the net present value of a project equal to zero.

	
	
	







Explanation: Correct answer: D

The IRR method equates an investment’s inflows to its outflows and determines the discount rate that sets the net present value of a project equal to zero. This means that if the IRR is above the firm’s cost of capital, the project should be accepted, and if the IRR is below the cost of capital, the project should be rejected.
For mutually exclusive projects, NPV and IRR criteria can give different decisions. Because NPV is a direct measure of the change in shareholder wealth, always use NPV when NPV and IRR conflict.
The IRR method assumes the cash flows are reinvested at the IRR. This assumption may not be realistic and the investment could earn more or less than what the IRR method would imply.
Depending on cash flows, an investment could have more than one internal rate of return which set the investment’s NPV equal to zero. This leads to a dilemma as to which IRR is appropriate.
	
	Question ID: 25048
The internal rate of return (IRR) method and net present value (NPV) method of project selection will always provide the same accept or reject decision when:


	
	A.
	the projects are independent.


	
	B.
	up-front project costs are under $1.0 million.


	
	C.
	the projects are mutually exclusive. 


	
	D.
	the projects terminate within five years.

	
	
	







Explanation: Correct answer: A

If a project’s IRR exceeds the cost of capital, the project’s NPV will be positive. The only way in which accepting a positive NPV project would reduce firm value is if its selection precludes selection of a project that would have enhanced firm value to a greater extent (i.e., had a higher NPV). IRR and NPV method accuracy do not depend upon project duration or costs.
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	Question ID: 17308
The Seattle Corporation has been presented with an investment opportunity which will yield cash flows of $30,000 per year in years 1 through 4, $35,000 per year in years 5 through 9, and $40,000 in year 10. This investment will cost the firm $150,000 today, and the firm's cost of capital is 10 percent. Assume cash flows occur evenly during the year, 1/365th each day. What is the payback period for this investment?


	
	A.
	4.00 years.


	
	B.
	6.12 years.


	
	C.
	5.23 years.


	
	D.
	4.86 years.

	
	
	







Explanation: Correct answer: D

	Years

	Cash Flows
	0
	1
	2
	3
	4
	5

	
	-150,000
	30,000
	30,000
	30,000
	30,000
	35,000


 

	150,000
	

	120,000
	(4 years) (30,000/year)

	$30,000
	

	$30,000 Unrecovered cost as the start of year 5
	= .86 years.86 = .86 years

	$35,000 Cash flow year 5
	


4 + .86 = 4.86 years
	
	Question ID: 23910
Which of the following statements are TRUE?
?? I.??? When calculating the cash flows for a project, you should include interest payments.
? II.??? Cash flows that are classified as incremental are relevant to capital budgeting project analysis.
?III.??? If an investment project would make use of property that the firm currently owns, the project should be charged with the opportunity cost (rental income) of the property.
IV. Since capital budgeting is based on cash flows rather than net accounting income, changes in non-cash balance sheet accounts such as inventory are not relevant to the analysis.?? 


	
	A.
	III and IV only.


	
	B.
	II and III only.


	
	C.
	I and III only.


	
	D.
	I and IV only.

	
	
	







Explanation: Correct answer: B

You must consider changes in working capital at the beginning and ending of the project.
	
	Question ID: 17393

If a firm follows a residual dividend policy and has an optimal capital budget that will require the use of all this year's earnings, the firm should pay:


	
	A.
	dividends financed by borrowing the money.


	
	B.
	dividends out of newly issued common stock.


	
	C.
	dividends but only out of past retained earnings.


	
	D.
	no dividends to common stockholders. 

	
	
	







Explanation: Correct answer: D


	
	Question ID: 17271

A $100, 8 percent preferred is currently selling for $85. If new shares are issued the flotation costs will be 6 percent. What is the cost of preferred equity?


	
	A.
	8.0%.


	
	B.
	10.8%.


	
	C.
	9.0%.


	
	D.
	10.0%. 

	
	
	







Explanation: Correct answer: D 
(85)(1-.06) = 80, so 8/80 = 10%

	
	Question ID: 17366

Jayco Inc. has a division that makes red ink for the accounting industry. The unit has fixed costs of $10,000 per month, and is expected to sell 40,000 bottles of ink per month. If the variable cost per bottle is $2.00 what price must the division charge in order to breakeven?


	
	A.
	$3.25.


	
	B.
	$2.75.


	
	C.
	$2.50.


	
	D.
	$2.25. 

	
	
	







Explanation: Correct answer: D
40,000 = 10,000/(P-2)

	
	Question ID: 17373
The "degree of leverage" concept is designed to show how changes in sales will affect earnings before interest and taxes (EBIT) and EPS. If a 10 percent increase in sales causes EPS to increase from $1.00 to $1.50, and if the firm uses no debt, then what is its degree of operating leverage?


	
	A.
	5.0


	
	B.
	3.6.


	
	C.
	4.2.


	
	D.
	4.7.

	
	
	







Explanation: Correct answer: A

	DOL =
	% Δ in EBIT 

	
	% Δ in Sales 


 

	= (
	1.50 - 1.00
	)(
	100)
	=
	(.5)(100)
	=
	50
	= 5

	
	1.00
	
	
	
	10
	
	10
	

	
	10
	
	
	
	
	
	
	


	
	Question ID: 23885

Which of the following statements about independent projects is FALSE?


	
	A.
	The internal rate of return (IRR) and the NPV methods can yield different accept/reject decisions.


	
	B.
	If the net present value (NPV) is positive you should accept the project.


	
	C.
	If the modified internal rate of return (MIRR) < the cost of capital reject the project.


	
	D.
	The NPV tells how much the value of the firm has increased if the project is accepted. 

	
	
	







Explanation: Correct answer: A
For independent projects the IRR and NPV give the same results.

	
	Question ID: 17333

A firm's weighted average cost of capital (WACC) is stated in nominal terms, but the project's expected cash flows are projected in real dollars. Which of the following statements is correct? The NPV will be:


	
	A.
	undeterminable.


	
	B.
	correct.


	
	C.
	biased downward.


	
	D.
	biased upward. 

	
	
	







Explanation: Correct answer: C


	
	Question ID: 17385

Jayco Inc. wants to maintain its target capital structure at 30 percent debt and 70 percent equity. The company forecasts that its net income this year will be $1,000. Jayco anticipates a dividend payout ratio of 40 percent. Without raising additional external equity what is the size of Jayco's capital budget?


	
	A.
	$1,428.


	
	B.
	$600.


	
	C.
	$857.


	
	D.
	$1,000. 

	
	
	







Explanation: Correct answer: C 
Dividend is 400, RE is 600, 600/.7 = 857

	
	Question ID: 23897
A firm is considering a project costing $10,000:
· The project will generate an annual cash flow of $2,000 for the next 8 years 

· The firm has 50% of its capital in equity at a cost of 12% 

· The cost of new debt is 6% 

· Their tax rate is 33% 

What is the project's net present value, and should the project be accepted or rejected?


	
	A.
	+ $670, accept.


	
	B.
	+ $1,493, accept.


	
	C.
	- $670, reject.


	
	D.
	- $1,493, reject. 

	
	
	







Explanation: Correct answer: B
WACC = (E/V)(ks) + (D/V)(kDebt)(1 - TC) WACC = (.5/1)(.12) + (.5/1)(.06)(1 - .33) = .08 

i=8; n=8; PMT = 2000; PV = 11493 

NPV = PV Income-Cost = 11493 -10000 = +1493 
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